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También quiero agradecer a mis compañeros de facultad, especialmente a David

Crevillén y David Salar, los momentos que compartimos mientras estudiábamos.
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Métricas fuzzy. Aplicaciones al filtrado de

imágenes en color

Andrés López Crevillén

Uno de los problemas más importantes en Topoloǵıa Fuzzy es obtener

un concepto apropiado de espacio métrico fuzzy. Este problema ha sido

abordado por muchos autores desde diferentes puntos de vista. En parti-

cular, es de gran interés la noción de métrica fuzzy sobre un conjunto que,

con la ayuda de t-normas continuas, introdujeron y estudiaron George y

Veeramani. En el presente trabajo hemos continuado con el estudio de estos

espacios métricos fuzzy, hemos aportado nuevos ejemplos que nos ayudarán

a desarrollar la teoŕıa y hemos tratado otras cuestiones relacionadas con la

convergencia, la continuidad y dos tipos de métricas fuzzy llamadas princi-

pales y fuertes.

En la presente tesis, aportamos nuevos ejemplos de métricas fuzzy y en

algunos casos obtenemos que las métricas fuzzy más habituales en la lite-

ratura sobre el tema, son casos particulares de las que aqúı damos. Tratamos

también la extensión de dos métricas fuzzy estacionarias cuando coinciden

en la intersección de dos conjuntos. También hemos continuado con el es-

tudio del concepto de p-convergencia en espacios métricos fuzzy introducido

por D. Mihet, estudiando algunos aspectos relativos a él y damos una carac-

terización de aquellos espacios métricos fuzzy, que llamamos principales, en

los que la familia de las sucesiones p-convergentes coincide con la familia de

las sucesiones convergentes. Además damos un ejemplo de espacio métrico

fuzzy no completable y no principal.
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Definimos el concepto de aplicación t-continua entre espacios métricos

fuzzy, que es más fuerte que el de continuidad y revisamos algunas cuestiones

referentes a este tipo de aplicaciones, obteniendo como resultado que si el

espacio métrico fuzzy de partida es principal entonces las aplicaciones t-

continuas coinciden con las aplicaciones continuas.

En lo que respecta al caṕıtulo de métricas fuertes, estudiamos una clase

de métricas fuzzy estacionarias que incluye la clase de las ultramétricas fuzzy

estacionarias, que admite completación.

Por último, dado que en trabajos recientes se ha demostrado que las

métricas fuzzy son interesantes para problemas de ingenieŕıa y útiles en va-

riedad de aplicaciones, estudiamos una aplicación de estas métricas en el

filtrado de imágenes digitales en color. El proceso de filtrado de una imagen

consiste en el reemplazamiento de los ṕıxeles de la imagen ruidosa original

por otros ṕıxeles libres de ruido que se determinan mediante un proceso

que involucra el uso de una métrica. En este contexto, usualmente se han

utilizado métricas clásicas y nosotros estudiamos la utilización de ciertas

métricas fuzzy. En una primera aplicación utilizamos cuatro métricas fuzzy y

comparamos los resultados con las métricas clásicas L2 y L∞. En la segunda

aplicación, la métrica fuzzy que utilizamos se define como un producto de

dos métricas fuzzy para aśı combinar dos criterios de distancia: cercańıa

espacial y similitud de las componentes de color RGB de un ṕıxel. Ambas

aplicaciones revelan que las métricas fuzzy son una herramienta prometedora

para el procesamiento de imagen y, en general, para problemas de ingenieŕıa.
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Mètriques fuzzy. Aplicacions al filtratge d’imatges

en color

Andrés López Crevillén

Un dels problemes més importants en Topologia Fuzzy és obtindre un

concepte adequat d’espai mètric fuzzy. Aquest problema ha sigut abordat

per molts autors des de diferents tipus de vista. En particular, és de gran

interés la noció de mètrica fuzzy sobre un conjunt que, amb l’ajuda de t-

normes cont́ınues, van introduir George i Veeramani. Al present treball hem

continuat amb l’estudi dels espais mètrics fuzzy, hem aportat nous exemples

que ens ajudaran a desenvolupar la teoria i hem tractat altres qüestions

relacionades amb la convergència, la continüıtat i dos tipus de mètriques

fuzzy anomenades principals i fortes.

A la present tesi, aportem nous exemples de mètriques fuzzy i en al-

guns casos obtenim que les mètriques fuzzy més habituals en la literatura

sobre el tema, són casos particulars de les que aćı donem. Tractem també

l’extensió de dues mètriques fuzzy estacionàries quan coincideixen en la in-

tersecció de dos conjunts. També hem continuat amb l’estudi del concepte

de p-convergència en espais mètrics fuzzy introdüıt per D. Mihet, estudiant

alguns aspectes relatius a ell i donem una caracterització d’aquells espais

mètrics fuzzy, que anomenem principals, on la famı́lia de les successions p-

convergents coincideix amb la famı́lia de les successions convergents. A més

donem un exemple d’espai mètric fuzzy no completable i no principal.
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Definim el concepte d’aplicació t-cont́ınua entre espais mètrics fuzzy, que

és més fort que el de continüıtat i revisem algunes qüestions referents a

aquest tipus d’aplicacions, obtenint com a resultat que si l’espai mètric fuzzy

de partida és principal, llavors les aplicacions t-cont́ınues coincideixen amb

les aplicacions cont́ınues.

Pel que fa al caṕıtol de mètriques fortes, estudiem una classe de mètriques

fuzzy estacionàries que inclou la classe de les ultram̀etriques fuzzy esta-

cionàries, que admet completació.

Per últim, com que en treballs recents s’ha demostrat que les mètriques

fuzzy són interessants per a problemes d’enginyeria i útils en una diversi-

tat d’aplicacions, estudiem una aplicació d’aquestes mètriques al filtratge

d’imatges digitals en color. El procés de filtratge d’una imatge consisteix

en el reemplaçament dels ṕıxels de la imatge sorollosa original per altres

ṕıxels lliures de soroll que es determinen mitjançant un procés que involucra

l’ús d’una mètrica. En aquest context, usualment s’han utilitzat mètriques

clàssiques i nosaltres estudiem l’ús de certes mètriques fuzzy. En una primera

aplicació utilitzem quatre mètriques fuzzy i comparem els resultats amb les

mètriques clàssiques L2 i L∞. En la segona aplicació, la mètrica fuzzy que

utilitzem es defineix com un producte de dues mètriques fuzzy per a aix́ı

combinar dos criteris de distància: proximitat espacial i similitud de les

components de color RGB d’un ṕıxel. Ambdues aplicacions revelen que les

mètriques fuzzy són una eina prometedora per al processat d’imatges i, en

general, per a problemes d’enginyeria.
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Fuzzy metrics. Applications to colour image

filtering

Andrés López Crevillén

One of the most important problems in Fuzzy Topology is to obtain

an appropriate concept of fuzzy metric space. This problem has been ap-

proached by many authors and from different points of view. In particular,

the notion of fuzzy metric on a set that, with the help of continuous t-norms

was introduced by George and Veeramani is of great interest. In this dis-

sertation, we have advanced in the study of fuzzy metric spaces, we have

given new examples that will be helpful to develop theoretical issues, and

we have approached other points related to convergence, to continuity and

to two particular types of fuzzy metrics called principal and strong .

In this Thesis, we provide new examples of fuzzy metrics and, in some

cases, we conclude that the most common fuzzy metrics in the literature are

particular cases of those provided here. We also deal with the extension of

two stationary fuzzy metrics when they coincide with the intersection of two

sets. In addition, we have advanced in the study of the p-convergency con-

cept in fuzzy metric spaces introduced by D. Mihet, where we have dealt with

some related aspects and we have given a characterization for those fuzzy

metric spaces that we call principal, in which the family of the p-convergent

sequences coincide with the family of convergent sequences. Moreover, we

provide an example of a non completable and non principal fuzzy metric

space.
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We define the concept of t-continuous application between fuzzy metric

spaces, which is stronger than the continuity concept, and we revise some

aspects related to this kind of applications obtaining as a result, that, if

the initial fuzzy metric space is principal, then the t-continuous applications

coincide with the continuous applications.

With respect to the chapter of strong fuzzy metrics, we study a class of

stationary fuzzy metrics that includes the class of stationary fuzzy ultrame-

trics, which admits completion.

Finally, provided that recent works have shown that fuzzy metrics are

interesting for engineering problems and useful in a variety of applications,

we study how fuzzy metrics can be used for colour image filtering. The

image filtering process consists of the replacement of the pixels in a noisy

original image with other noise-free pixels which are determined by means

of a procedure that involves the usage of a metric. In this context, usually

classical metrics have been employed and we study the usage of certain fuzzy

metrics, instead. In a first application, we use four different fuzzy metrics

for the filtering process and we compare the results with the classical L2

and L∞ metrics. In a second application, we employ a novel fuzzy metric

which is defined as the product of two fuzzy metrics in order to combine

two different distance criteria: pixel spatial closeness and pixel RGB colour

similarity. Both applications show that fuzzy metrics are a promising tool

for image processing and, in general, for engineering problems.
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(KM3) M(x, y, t) = M(y, x, t)
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��� 
�����	�� ;,�� ����
�
��� ����� ����
��� �����
�� �	��� f : (X,M) −→
(Y,N) �� �%
�����	� �� x0 ∈ X �� ����� ε ∈]0, 1[ � t > 0 �(���� δ ∈]0, 1[ ���

:	� �� M(x0, x, t) > 1− δ3 �����
�� N(f(x0), f(x), t) > 1− ε<� �� �-+�� :	�3

�� 	�� ����
�
��� f �� �%
�����	� �� 	� �	��� x0 �����
�� �� 
�����	� �� x03

���� �� ��
)���
� �� ����� �� �������3 
��� ������� +�� �� �� �2����� ����"�
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K� �-������3 ������������� ;0������
��� ����!< :	� �� �� ����
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�

�	��� �� ������� �� 	�� ����
�
��� f 
�����	� �� x0 �� ����
����3 �����
�� f

�� �%
�����	� �� x0� �� �����
	���3 �� �� ����
�� �� ������� �� Md ;�� �����
�

�	��� ���.����< ���� ����
�
��� �%
�����	� �� 	� �	��� x0 �� 
�����	� �� x03

�	�� Md �� ����
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�������� �� ���� ��

��� 7� ����

�	-��
��� �� 8��9<�

�� �� ������� ����� ��� 
��)�	�� " �� �������� ���	��� ����
��� �� 	��


���� �� �����
�� �	��� :	� �������� �������3 ��� 
	���� �� �-����� ��������

�� ��
�	���� �� 	�� �	�+� 
����
��� ���� ���� ���� �� �����
�� �	���� 1�

��
� :	� �� �����
� �	��� (M, ∗) �� 	�� �����
� �	��� �	���� �� ���� 
���

x, y, z ∈ X � t > 0 
	���� :	�

M(x, z, t) ≥ M(x, y, t) ∗ M(y, z, t).

5 ���� �����
� �	��� M �� �� ���
�� 	�� ������� {Mt : t > 0} �� ��%

���
�� �	��� ����
�������� � 
���
��������� 
	.��� 	�� ������� ��-�������

{Mt : t > 0} �� �����
�� �	��� ����
�������� �� �� 	�� �����
� �	��� �	����

� ���+�� �� �� �(������� M(x, y, t) = Mt(x, y)3 ∀x, y ∈ X3 t > 0� 1� �-�����

:	� 	�� �����
� �	��� �	���� M �� 
������� �� � ���� �� Mt �� 
������� ����

���� t > 0 ;*�������� "����'<� E���	��3 �� �� ���	��� ����� ��� 
��)�	�� "

�� ���	��� �� 
������������� �� 
����� ���� �� �����
�� �	��� :	� ������%

����� )�������� ;E�
���� :	� 	�� �%����� 
�����	� ∗ �� )������ �� 
	����

:	� a ∗ b �= 0 ������� :	� a, b �= 0<� E���	�� ����������� :	� ��� �����%


�� �	��� ����
�������� )������� ��� 
�������-��� ;*�������� "����
<3 � :	� ��

(X,M, ∗) �� 	� ����
�� �����
� �	��� �	���� 
�������-��3 �����
�� ���-���

�� �� (X,Mt, ∗) ���� ���� t > 0 ;>������ "����&<3 ������ ����� �� ��
)���
�
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�� �� 
��)�	�� 
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�
��� �� �����
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5� ����
���� ����-��
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��
���� �� ����
�� �����
� �	���3 �-2���

�� �	����� ���	���3 :	� �� �� ��-��� � ������ � ���������3 �� �� E� ��
���

�����3 � ����������� �� �����
� �	��� ���.���� (Md, ·) :	� �� �-����� � ���+��
�� 	�� �����
� d ��-�� X � :	� +���� �� ���� ���

Md(x, y, t) =
t

t + d(x, y)

������ � ��������� �� 8�"9 ���-���� :	� ���� �����
� �	��� M �� X

������ 	�� �������)� τM �� X :	� ����� 
��� -��� �� ������� �� -���� �-������

�
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�� 
����� x3 ����� r � ���.����� t3

{BM (x, r, t) : x ∈ X, 0 < r < 1, t > 0}

�����

BM (x, r, t) = {y ∈ X : M(x, y, t) > 1 − r} .

5���.� ����������� :	� (X, τM ) �� 	� ����
�� B�	����J :	� +��� 
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� �	���3 � ����� � 
���
�� 	�� ����� �� �����������

:	� ��� ���.� �� 	������� �.� ��������� E�
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(�)�	�	
� ������ ��
 ����
���� ���
��
 ∗ : [0, 1] × [0, 1] → [0, 1] �� ����

��� �� ��
 ������
 �������
 �� �
����
�� �
� ��
������� ������������

��� ∗ �� �������
 
����
���
 	 ������
���


���� a ∗ 1 = a �
�
 ���� a ∈ [0, 1]

����� a ∗ b ≤ c ∗ d ������� ��� a ≤ c 	 b ≤ d a, b, c, d ∈ [0, 1]

(�)�	�	
� ������ �� ���
��� �!����� ����	 �� �� ������� �� "���
� 	 #���

�
�
�� $%&' �� ��
 ����
 (X,M, ∗) ����� ( �� �� �������� �� �
�)� ∗ ��

��
 ������
 �������
 	 * �� �� �������� ����	 �� X×X×]0,+∞[ ��� ����� 

M �� ��
 
����
���� �� ����� �������� ��� �
����� �� �� ������
�� $+ %'� ���

�
����
�� �
� ��
������� ����������� �
�
 ��
��������
 x, y, z ∈ X t, s > 0�

�"#%� M(x, y, t) > 0

�"#,� M(x, y, t) = 1 �� 	 ���� �� x = y



�& ���
����	���

�"#-� M(x, y, t) = M(y, x, t)

�"#&� M(x, y, t) ∗ M(y, z, s) ≤ M(x, z, t + s)

�"#.� M(x, y,−) :]0,+∞[→]0, 1] �� �������


5 ������ �� �7��� ������������� Mxy(t) � �� �	�
��� ��� �(���� (GV 5)

� ��� ����� ���� 
	��:	��� x, y ∈ X �� ����� :	� Mxy(t) = M(x, y, t) �� 	��

�	�
��� 
�����	� �����
�� �� t�

�� �(���� (GV 2) �� �:	�+������ � ��� ���	������ ��� 
����
�����H

(GV 2)′ M(x, y, t) = 13 ���� ���4� t > 0 �����
� x = y�

(GV 2)′′ M(x, x, t) = 1 ���� ���� t > 0�

1� (X,M, ∗< �� 	� ����
�� �����
� �	���3 ������� :	� (M, ∗) �� 	�� �����%

� �	��� ��-�� X� >��-��� ������� :	� (X,M) �� 	� ����
�� �����
� �	���

� M �� 	�� �����
� ��-�� X� �� �
�������3 ������� :	� X �� 	� ����
��

�����
� �	���3 �� �� �(���� �	��� � 
���	����� K���� :	� �� 
����
��� (GV 4)

�� 	�� +������ �	��� �� �� �����	����� ������	���� #�� +������ M(x, y, t) ��
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��)� �� x � y 
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�� ���
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�3 �����
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�� �
�������3 ��� ���
��� �(��)
���3 	����������� ��� ���	������ ���	������

:	� �	���� ����� �� 8�"9 ���� 	� ����
�� �����
� �	��� (X,M, ∗)3 � 	�� �%

����� 
�����	� ∗3 �����
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 ������� M(x, y,−) = Mxy(t) �� �� ����������� �
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���� x, y ∈ X0
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��� 2
�� r ∈]0, 1[ �3���� s ∈]0, 1[ �
� ��� s ∗ s ≥ r

���� 2
��� r, s ∈]0, 1[ ��� r > s �3���� t ∈]0, 1[ �
� ��� r ∗ t ≥ s

������	�	
� ������ 1�
 (X, d) �� ���
��� �!�����0 ������������ a∗b = ab 

�
�
 ��
��������
 a, b ∈ [0, 1] ��
 Md �
 ������� ��4���
 �� �� ��������

X × X×]0,+∞[ �� �
 ��
������ ����
�

Md(x, y, t) =
t

t + d(x, y)

5������� (X,Md, ∗) �� �� ���
��� �!����� ����	0

(�)�	�	
� ���� � /
 
������� �!����
 ����	 Md �������
 ��� �
 �!����


d �� �������
 ������
� 	 
 (X,Md, ∗) �� �� ��
�
 ���
��� �!����� ����	

������
� �
����
�� 
� ���
��� �!����� (X, d)�0

*��
 ������ 5� �� �
�� �� ��� d ��
 �
 �!����
 ����)��
 �� R 
 Md �� ��

�������
�� �!����
 ����	 ����)��
 �� R0

*��
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� 	 #���
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�� �������
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 �!����
 ����	

M �� X 
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 ��
 ������
)
 τM �� X ��� ����� ���� �
�� �
 �
����
 ��

���
� 
�����
� ��� ������ x �
��� r 	 �
������� t 

{BM (x, r, t) : x ∈ X, 0 < r < 1, t > 0}

�����

BM(x, r, t) = {y ∈ X : M(x, y, t) > 1 − r}

*	���� �� 7��� ����-������ �� 
���	����3 ��
��-������ B(x, r, t) �� �	���

�� BM (x, r, t)�
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#�� �	����� ����������� 8�"9 :	� (X, τM ) �� 	� ����
�� �� B�	����J :	�

+��� 
� �� 0����� 5(���� �� K	����-�������

(�)�	�	
� ����!� $%&' ��
 �������� {xn}n∈N
�� �� ���
��� �!����� ����	

(X,M, ∗) �� ���� ��� �� �� �
���	 �� �
�
 �
�
 ε > 0 	 t > 0 �3���� n0 ∈ N

�
� ��� M(xn, xm, t) > 1 − ε  �
�
 ��
��������
 n,m ≥ n00

�� 
������ 
����(��� ���	��� 
����� ��
�� :	� {xn}n∈N
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7�3 �
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������� ��) �� 7������ ��������3 �� +�� �� ��
�� :	� �� �� *�	
7� ��

(X,M)�

(�)�	�	
� �����+� �� ���
��� �!����� ����	 (X,M, ∗) �� �� ��� ���
 �����

���� �� �
���	 ������
� �� ���� ��� �� �� ���
��� �!����� ����	 �������� 	

�� �
� �
�� ������� ��� M �� ��
 �!����
 ����	 �������
 �� X0

(�)�	�	
� ������� �� ���
��� �!����� ����	 (X,M, ∗) �� ����
��� �� ��

���
��� ������
��� (X, τM ) �� ����
���0

(�)�	�	
� ������� $%&' 1�
 (M, ∗) ��
 �!����
 ����	 �� �� �������� X0

2������ ��� X �� 6�
���
�� �� �3����� r ∈]0, 1[ 	 t > 0 �
� ��� M(x, y, t) >

1 − r �
�
 ��
��������
 x, y ∈ X0

�� ��� 
��� ���-��� ������� :	� M �� 	�� �����
� �	��� /%�
����� ��

X�

�� 
����� ������� �	��� ��
���� :	� �� ����
�� �����
� �	��� ���.����

7����� ��� ����������� ��� ����
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� ���
���� �� ���
����
��� �.�

�(��)
�������� �� ����� �� ���	����� �������
����

������	�	
� ������� 1�
 (X, d) �� ���
��� �!�����0 5��������

��� /
 ������
)
 τ(d) 
����
�
 ��� �
 �!����
 d �� �
 ����
 ��� �
 �����

��
)
 τMd
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�
 ��� �� ���������
 �!����
 ����	 ������
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�
 Md0
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���� /
 �������� {xn}n∈N
�� ��
 �������� �� ���
���	 ��0�0 �� ��
 �����

���� �� �
���	 �� �� ���
��� �!����� (X, d)� �� 	 ���� �� �� ��
 �������� ��

�
���	 �� �� ���
��� �!����� ����	 ������
� (X,Md, ∗) 
����
�� 
 d0

����� �� ����������� A ⊂ X �� 
���
�� �� �� ���
��� �!����� (X, d) �� 	

���� �� 7 �� 6�
���
�� �� �� ���
��� �!����� ����	 ������
� (X,Md, ∗)0

,�����
 �����"� $%&' ��
 �������� {xn}n∈N
�� �� ���
��� �!����� ����	

(X,M, ∗) ������
� 
 x ∈ X �� 	 ���� �� ĺım
n→∞M(xn, x, t) = 1 ∀t > o0

�� �-+�� :	� ���� �	
����� 
��+������� �� �� *�	
7��

������	�	
� ������� $%8' 5� ���
��� �!����� (X, d) �� �������� �� 	 ���� ��

�� ���
��� �!����� ����	 ������
� (X,Md, ∗) �� ��������0

(�)�	�	
� ����� � �� ���
��� ������
��� (X, τ) �� ����	 ������
��� �� �3����

��
 �!����
 ����	 M �� X �
� ��� τ = τM 0
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 ������� $,%' 1�
 (X,M, ∗) �� ���
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(X, τM ) �� �� ���
��� ������
��� ������
���0

�� �� ��	�-� ��� ���	����� ��������3 ��� �	����� ����������� :	� �� ����%

��� {Un : n ∈ N}3 ����� Un =
{
(x, y) ∈ X × X : M(x, y, 1

n) > 1 − 1
n

}
3 �� 	��

-��� ;�	����-��< �� 	�� 	���������� UM �� X3 
������-�� 
�� �� �������)�
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 ������� f �� X �� Y �� ��
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 �������)
 �� �
�
 �
�
 x, y ∈ X 	

t > 0 M(x, y, t) = N(f(x), f(y), t)0

�� (X,M, ∗) � (Y,N, �) �� ��
�
� ����!������ �� �3���� ��
 �������)
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� ������� $,,' 1�
 (X,M, ∗) �� ���
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������� 
��������� :	� X ⊂ X∗3 � �� ∗ � :	� M∗ ���. �� ���� ��-�� X∗

���

M∗(x, y, t) = ĺım
n→∞M(xn, yn, t)

���� ���� x, y,∈ X∗3 t > 03 ����� {xn}n∈N
� {yn}n∈N

��� �	
������� �� X

:	� 
��+����� � x � y3 �����
��+�������
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� �����#� $,-' �� ���
��� �!����� ����	 (X,M, ∗) �� ���� ��� ��

����
������� �� M �� ������� �� t �� ����� �� �
�
 �
�
 x, y ∈ X �
 �������

Mxy(t) = M(x, y, t) �� �����
���0 9
���!� �� ���� �� ��
������ ��� M ��

���
����
��
0

1� M �������
� ��� �(����� (GV 1)−(GV 4) � �� ������� �� t3 �-+�������

�������
� (GV 5) � ��� �� ����� �� ����� �� 	�� �����
� �	��� ����
��������

1� (X,M, ∗) �� 	� ����
�� �����
� �	��� ����
�������3 ��
��-������ M(x, y)

�� +�� �� M(x, y, t) � BM (x, ε) �� +�� �� BM (x, ε, t) �� �� �� �	��� � 
���	%

�����

E���������� ∗ � 	�� �%����� 
�����	� 
	��:	����� #� �%����� �)����

�� ����������� ��� ∧3 �� ����	
�� 	�	�� ��� · � �� �%����� �� /�=
�������

��� L3 �� ��
��3

a ∧ b = min {a, b}
a · b = ab

a L b = max {a + b − 1, 0}

����� � �%������ ��� ��� �.� 
��4������ 	����� �� ����
� �	���3 �����%

��
�� ��� ����������� :	� ��	�
����� �� �� ���	����� �������
��� � ��� ���.�

�� 	������� �.� ���������
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� �����!� ��� �
� ���
������ 
��������� �� �
����
��� �
� ��
�����

��� ����
�
��
����

��� a L b ≤ a · b ≤ a ∧ b �
�
 ���� a, b ∈ [0, 1]

���� a ∗ b ≤ a ∧ b �
�
 ��
������ ������
 ∗ ��������
� 	 �
�
 ���� a, b ∈
[0, 1]0
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 X �� �������� 
�����
��� �� �
�)�0 1� (M, ∗) �� ��
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 ����	 �� �� �������� X 	 � �� ��
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 �������
 �� �
���
 ���

� ≤ ∗  �������� (M,�) �� ��
 �!����
 ����	 �� X0
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	��
��3 �� (M,∧) �� 	�� �����
� �	��� ��-�� X �����
�� (M, ∗)
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� �	��� ��-�� X ���� 
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��)�	��3 X �������. 	� 
��2	��� �� +�
)� � M 	�� �	�
���

�� ���� ��-�� X × X × R+ 
�� +������ �� ]0, 1]�
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7�� �� ���� ��� �����
�� �	���� �� 
��� 	�� �� ��� �2������ �� �����
� �	���

(M, ∗) :	� �����������3 �� ����-��
� ���� 
	.� �� ��� � �%������ 
�����	��

:	� ���-�2���� ;�)����3 ����	
�� 	�	�� � #	C����+�
�< ���	��� ��� M ��%

���
� �	���3 � ����� 	� �2����� :	� ��	�-� :	� ���� ���� �%�����3 �������

�����3 ;�� ∗ �� �� �� �%����� �)����< ��2� �� ������

�� �� 1�

��� ���3 ����������� �� �����
� �	��� M ���� ���

M(x, y, t) =
(

(min {f(x), f(y)})α + g(t)
(max {f(x), f(y)})α + g(t)

)β

����� f : X → R+ �� 	�� �	�
��� ����
��+�3 g : R+ → [0,+∞[ 	�� �	�
���


�����	� � 
��
����� � α, β > 03 �� 
	�� �� 	�� ����������
���3 ��� �2�����3

�� ��� �����
�� �	���

M(x, y, t) =
min {x, y} + t

max {x, y} + t
,

�

M(x, y) =
min {x, y}
max {x, y}

�� ����� ��-�� X = R+3 :	� 	����������� �� 
��)�	��� �	
���+���

�� �� 1�

��� ��� +���� ���	��� �����
�� �	��� �� ����� �������� ��%

���
�� 
�.��
��� ����� �����3

M(x, y, t) =
g(t)

g(t) + m · d(x, y)
,m ∈ R+
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��� �� �� �����
� �	��� ���.���� Md�
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����������� 	�� �	�
��� ϕ : R+ →]0, 1[ :	� �� 
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������ #� �	�
��� M �� ���� ���

M(x, y, t) =


1, �� x = y

ϕ(t), �� x �= y
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
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k, �� x �= y
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F (x, y) = cos2 x−sen2 y3 :	� 
��� +������ �� �����
� �	��� ���� �� �%�����

L �� #	C����+�
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��� ��!��3 :	� ������� +�� � 
�����	�
����

1��� g, h : X →]0, 1[ �	�
����� ����� :	�

sup {g(x) : x ∈ X} < inf {h(x) : x ∈ X}

�� ������ :	� (g + h)(x) = c� E� ����� �� �	�
��� M ���

M(x, y) =


1, �� x = y

h(x) − g(y), �� x �= y

�����
�� (M,L) �� 	�� �����
� �	��� ��-�� X�

�� �� 1�

��� ��� ��� ��
�������� 
�� �����
�� �	��� �� ����� ��������

�%������ 
�����	��� ,� 
��� �� ����� �� �	��� +�� �� �� 0������
��� ����� �



�' �����
�� �� ��
���	� �����


��� 
��� �����
	��� �-������� :	�

M(x, y) =


1, �� x = y

sen x · sen y, �� x �= y

�� 	�� �����
� �	��� ���� �� ����	
�� 	�	�� ��-�� X =]0, π[�

�� �� 1�

��� ��& ��� �����
�� �	��� :	� ��� ��
�������� �� �� ��� �

������ �� ����� �����
�� �	���� 5�)3 ��� �2�����3 �-������� �� �����
� (M, ·)
�� �� 0������
��� ��&�
3 ���� ���

M(x, y, t) =
h(t)

h(t) + 1 − N(x, y, t)

����� h : R+ → R+ �� 	�� �	�
��� 
�����	� � 
��
����� � N 	�� �����
�

�	��� ���� �� ����	
���

�� �� 1�

��� ��$3 ��� �����
�� �	��� ���.� �� ����� ���������� � 	��

�����
��� �� X� �� +���� �� �� �	�
��� M ������� �� �� ��
�����
��� �� ���

�	���� �� �� �����
��� 7�
7� ��-�� �� 
��2	��� X� 0������ +�� 	�� �����
�

�� ����� �� �� 0������
��� ��$�� ����� �� �����
� (M, ∗) ��-�� X +���� ����

���

M(x, y, t) =


N(x, y, t), �� x, y ∈ A � x, y ∈ B

N(x, y, t) ∗ ϕ(t), �� ���� 
���

����� ϕ : R+ →]0, 1] �� 	�� �	�
��� 
�����	� � 
��
�����3 (N, ∗) 	�� �����
�
�	��� ��-�� X � X = A ∪ B3 
�� A ∩ B = φ�

/���������3 �� �� 1�

��� ���' +���� 
��� �(������ 	�� �����
� �	��� ��

��� ������ ���������� #� ������� �����3 :	� ������� +�� �� �� 0������
���

���'��3 ������� �(������ � H ∪K3 ����� H � K ��� 
��2	���� �� ���2	����3

� �� ��� :	� ���.� �� ����� ��� �����
�� �	��� MH � MK 3 �����
��+������3


���
������� �� H ∩ K3 	�� �����
� �	��� M :	� 
���
��� 
�� MH �� H



�����	
��	���� �� ��
���	� ����� �������	� ��

� 
�� MK �� K3 �� ��
��3 M |H = MH � M |K = MK � *��� ����
�
��� �

���� ������3 ������� ��� �2������ ���'�� � ���'��� #� ���	��� �����3 ���.

-����� �� �� 
��
���� �� �������)� ;�	���<3 :	� ��� ������� ����������� ��

�����
� �	��� �� 	� ����
�� � ���� :	� ����-� ������+���� �� �����
� �	���

;0������
��� ���'�"<� *��� ����
�
���3 ������� :	�

N(x, y) =
min {ex, ey}
max {ex, ey}

�� 	�� �����
� �	��� ����
������� ��-�� R3 �� 
��������� 
��� �%����� ��

����	
�� 	�	��3 � �� �������)� τN �� �� 	�	�� �� R�

�� ���� 
��)�	��3 X �������. 	� 
��2	��� �� +�
)� � M 	� 
��2	��� �	���

�� X × X × R+�


�
� ����������
��� �� �����
�� �	��� 
���
����

������	�	
� ������ 1�
 f : X → R+ ��
 ������� ��	�����
 	 ��
 g : R+ →
[0,+∞[ ��
 ������� �������
 	 ���������0 6��
��� α, β > 0 ��4����� M ���

M(x, y, t) =
(

(min {f(x), f(y)})α + g(t)
(max {f(x), f(y)})α + g(t)

)β

;���<

5������� (M, ·) �� ��
 ������� �	

� ����� X0

2������
����0

(GV 1) �� �-+�� :	� M(x, y, t) > 0 ���� ���� x, y ∈ X3 t > 0�

(GV 2) ������ :	� M(x, y, t) = 1 ⇔ x = y� �� ���
��H(
(min {f(x), f(y)})α + g(t)
(max {f(x), f(y)})α + g(t)

)β

= 1 ⇔



�� �����
�� �� ��
���	� �����

⇔ min {f(x), f(y)} = max {f(x), f(y)} ⇔ f(x) = f(y) ⇔ x = y

(GV 3) �� �-+�� :	� M(x, y, t) = M(y, x, t)�

(GV 4) ������ :	� �� +��� 
� M(x, y, t) · M(y, z, s) ≤ M(x, z, t + s)

1	�������� :	� f(x) ≤ f(z)� 0������ �������	�� ���� 
����H

;�< f(x) ≤ f(y) ≤ f(z)

;�< f(y) ≤ f(x) ≤ f(z)

;�< f(x) ≤ f(z) ≤ f(y)

0	�� -���3 �� �������

M(x, z, t + s) =
(

f(x)α + g(t + s)
f(y)α + g(t + s)

)β

·
(

f(y)α + g(t + s)
f(z)α + g(t + s)

)β

�� �.
�� +�� :	� �� ��� ���� 
���� �� 
	���� �� �����	�����

M(x, z, t + s) ≥ M(x, y, t) · M(y, z, s)

�� :	� � �� 
��
������ �� ���
��H

;�<

M(x, z, t + s) =
(

f(x)α + g(t + s)
f(y)α + g(t + s)

)β

·
(

f(y)α + g(t + s)
f(z)α + g(t + s)

)β

≥

≥
(

f(x)α + g(t)
f(y)α + g(t)

)β

·
(

f(y)α + g(s)
f(z)α + g(s)

)β

= M(x, y, t) · M(y, z, s)



�����	
��	���� �� ��
���	� ����� �������	� ��

;�<

M(x, z, t + s) =
(

f(x)α + g(t + s)
f(y)α + g(t + s)

)β

·
(

f(y)α + g(t + s)
f(z)α + g(t + s)

)β

≥

≥
(

f(y)α + g(t + s)
f(z)α + g(t + s)

)β

≥
(

f(y)α + g(t)
f(x)α + g(t)

)β

·
(

f(y)α + g(s)
f(z)α + g(s)

)β

=

= M(x, y, t) · M(y, z, s)

;�<

M(x, z, t + s) =
(

f(x)α + g(t + s)
f(y)α + g(t + s)

)β

·
(

f(y)α + g(t + s)
f(z)α + g(t + s)

)β

≥

≥
(

f(x)α + g(t + s)
f(y)α + g(t + s)

)β

≥
(

f(x)α + g(t)
f(y)α + g(t)

)β

·
(

f(z)α + g(s)
f(y)α + g(s)

)β

= M(x, y, t) · M(y, z, s)

#� ��	�-� �� ������� �� �� 
��� f(x) > f(z)� �

*��
 ������ 5� ����� �������
� ��� �
�
 r ∈]0, 1[ 	 t > 0 �
� ���
� 
�����
�

������ �
�
� ���

B(x, r, t) = {y ∈ X :
(
(fα(x) + g(t))(1 − r)

1
β − g(t)

) 1
α ≤

f(y) ≤ (
fα(x) + g(t)

(1 − r)
1
β

− g(t))
1
α }



�" �����
�� �� ��
���	� �����

#�� ���	������ ���� �2������ ��� 
���� �����
	����� �� �� �������� �����%

��
����

;5< 1� ������� �� ;���< f(x) = x3 g(t) = t3 α = 1 � β = 13 �����
��


��� 
��� �����
	��� �� ����� :	�

M(x, y, t) =
min {x, y} + t

max {x, y} + t

�� 	�� ����	�
 ����� ��-�� X = R+�

�� �.
�� ��������� :	� �� �������)� ��-�� X ���	
��� �� M 
���
��� 
��

�� �������)� 	�	�� �� R ����������� � R+� �� ���
��H

B(x, r, t) = {y ∈ X : M(x, y, t) > 1 − r} =
]
x − r(x + t),

x + rt

1 − r

[

�� :	�H

1� x ≤ y3

M(x, y, t) =
x + t

y + t
> 1 − r ⇔ x + t > (1 − r)(y + t) ⇔

⇔ y <
x + t

1 − r
− t =

x + rt

1 − r

1� y ≤ x3

M(x, y, t) =
y + t

x + t
> 1 − r ⇔ y + t > (1 − r)(x + t) ⇔ y > x − r(x + t)

#	��� ��� -���� ��� �����+���� �-������ :	� �	���� 7�
���� ��� ��:	�%

L�� 
��� �� ����� � ��� �� ����� �� �������)� ���
���� � ���� �����
� �� ��

�������)� 	�	�� ���� :	� ���� 
	��:	��� x ∈ X � δ > 03 �� �����+��� �� ��

����� ]x− δ, x+ δ[ 
������� ���	�� -��� �-����� B(x, r, t)3 � ��
)���
������3



�����	
��	���� �� ��
���	� ����� �������	� �


���� -��� B(x, r, t) 
�� r ∈]0, 1[ � t > 03 
������� ���4� �����+��� �� �� �����

]x − δ, x + δ[�

;M< >������ X = N � �������� �� ;���< f(x) = x3 x ∈ X3 g(t) = 03

t > 03 α = β = 1� �����
�� �� �-����� ������	�
 ����� ���
�	��
�	
 (M, ·)
��-�� X3 8�"93 ����� M +���� ���� ���

M(x, y) =
min {x, y}
max {x, y} ;���<

N-���+�� :	� �� �������� �.� ����
��3 �����
�� ��M 3 � n ∈ X3 �� �������

n + 1�

�� ���� 
���3 �� �������)� τM �� �� �������)� ���
����3 �� :	� ���� 
���

n ∈ X3 �� ������� 0 < r < 1 − n
n+1 3 �� ����� :	� B(n, r, t) = {n}�

;*< >������ X =] − k,+∞[ (k > 0)3 � �������� �� ;���< f(x) = x3

x ∈ X3 g(t) = k3 ���� ���� t > 03 ������ k > 0 � α = β = 1� �����
�� ��

�-����� �� ����	�
 ����� ���
�	��
�	
 (M, ·) ��-�� X3 8"'93 ����� M +����

���� ���

M(x, y) =
min {x, y} + k

max {x, y} + k
;���<

N-���+��� :	� (M,∧) �� �� 	�� �����
� �	���� �� ���
��3 -���� ����� x = 03

y = 10 � z = 1 � �� �����

M(x, z) =
k

10 + k
< min

{
k

1 + k
,

1 + k

10 + k

}
= min {M(x, y),M(y, z)} .

������ �� �������)� �� X :	� �� ���	
� �� M �

B(x, r, t) = {y ∈ X, y < x : M(x, y) > 1 − r}∪

∪ {y ∈ X, y > x : M(x, y) > 1 − r} =



�! �����
�� �� ��
���	� �����

= {y ∈ X : y > x − r(x + k)} ∪
{

y ∈ X : y <
x − kr

1 − r

}
=

=
]
x − r(x + k),

x + kr

1 − r

[

����� :	� ��� -���� ��� �����+���� �-������ :	� �	���� 7�
���� ��� ��:	�%

L�� 
��� �� ����� �3 ��� �� ����� �� �������)�3 
��� �� �� 
��� ;5<3 
���
���


�� �� �������)� 	�	�� �� R ����������� � ] − k,+∞[�


��� �����
�� �	��� �������� �������� �����
��

�� ��� ���	������ ��� �2������ g : R+ → R+ ���. 	�� �	�
��� 
�����	� �


��
����� � d ���. 	�� �����
� ��-�� X�

������	�	
� ������ 1�
 m ∈ R+0 2�4����� �
 ������� M ���

M(x, y, t) =
g(t)

g(t) + m · d(x, y)
;��"<

5������� (M, ·) �� ��
 ������� �	

� ����� X0

2������
����0

#�� ����������� (GV 1) − (GV 3) � (GV 5) ��� �+��������

������ (GV 4)� 1��� x, y, z ∈ X3 t > 0� ������ :	�

M(x, z, t + s) ≥ M(x, y, t) · M(y, z, s).

0��� ���� +���� � +�� :	�

;�< M(x, z, t) ≥ M(x, y, t) · M(y, z, t) � :	�



��
���	� ����� �������	� ����	�
� ��
���	� ��

;�< M �� 
��
������

0��� +�� ;�< 7���� �� ���-�� :	�

g(t)
g(t) + m · d(x, z)

≥ g(t)
g(t) + m · d(x, y)

· g(t)
g(t) + m · d(y, z)

:	� �� �� ����� :	� ���-�� :	�

(g(t) + m · d(x, y)) · (g(t) + m · d(y, x)) ≥ (g(t) + m · d(x, z)) · g(t).

0	�� -���

(g(t) + m · d(x, y)) · (g(t) + m · d(y, x)) =

= g(t)2 + g(t) · m · d(x, y) + g(t) · m · d(y, z) + m2 · d(x, y) · d(y, z) =

= g(t)2 + g(t) · m(d(x, y) + d(y, z)) + m2 · d(x, y) · d(y, z) ≥

≥ g(t)2 + g(t) · m · d(x, z) + m2 · d(x, y) · d(y, z) ≥

≥ g(t)2 + g(t)m · d(x, z) = g(t) · (g(t) + md(x, z))

0��� ���-�� ;�<3 ���� x, y ∈ X � t, s > 0� ������ :	�

M(x, y, t + s) ≥ M(x, y, t).

�� �+������ :	�

g(t + s) · m · d(x, y) ≥ g(t) · m · d(x, y)

�	�� g �� 
��
������ 0�� �� �����

g(t) · g(t + s) + g(t + s) · m · d(x, y) ≥ g(t) · g(t + s) + g(t)m · d(x, y) ⇒

⇒ (g(t) + m · d(x, y))g(t + s) ≥ g(t)(g(t + s) + m · d(x, y)) ⇒

⇒ g(t + s)
g(t + s) + m · d(x, y)

≥ g(t)
g(t) + m · d(x, y)



�& �����
�� �� ��
���	� �����

5�)3 �� ;�< � ;�< �� ����� :	� ���� x, y, x ∈ X3 t, s > 0

M(x, z, t + s) ≥ M(x, y, t + s) · M(y, z, t + s) ≥ M(x, y, t) · M(y, z, s)

�

*��� 
��� �����
	���3 �� �������� g(t) = tn3 
�� n ∈ N � m = 13 �����
��

�-�������

M(x, y, t) =
tn

tn + d(x, y)
, ;��
<

� ��) (M,∧) �� 	�� ����	�
 ����� ��-�� X 
��� ������� +�� �� 8"$9� ��

�����
	���3 ���� n = 13 �������

M(x, y, t) =
t

t + d(x, y)


���
��� 
��� �� ����	�
 ����� ���/��
�� #� �������)� ��-�� X ���	
���

�� �� �����
� �	��� ���.���� 
���
��� 
�� �� �������)� ���
���� � �� �����
�

d3 �� ��
��3 τM = τ(d)�

0�� ���� �����3 �� �� �� �
	�
��� ;��"< g(t) �� 	�� �	�
��� 
��������3 ��

��
��3 g(t) = k > 03 � m = 13 �-�������

M(x, y, t) =
k

k + d(x, y)

� ��) (M, ·) �� 	�� ����	�
 ����� ���
�	��
�	
 ��-�� X ����3 �� �������

(M,∧) �� �� ��� 0��� +��� 
����3 -���� ����� X = R3 d(x, y) = |x−y|3 x = 13

y = 10 � z = 100� 5�) ������� :	� M(x, z) < min {M(x, y),M(y, z)} ��


�������

��� 
�� (GV 4)�

������	�	
� ������ 2�4����� �
 ������� M ���

M(x, y, t) = e
− d(x,y)

g(t) ;��!<

5������� (M, ·) �� ��
 ������� �	

� ����� X0



��
���	� ����� �������	� ����	�
� ��
���	� �$

2������
����0

#�� ����������� (GV 1) − (GV 3) � (GV 5) ��� �+��������

������ (GV 4)� 1��� x, y, z ∈ X� ������ :	�

M(x, z, t + s) ≥ M(x, y, t) · M(y, z, s).

0�� �� �����	����� ������	��� �� d ������� :	� d(x, z) ≤ d(x, y)+d(y, z)�

#	���

d(x, z) ≤ g(t + s)
g(t)

d(x, y) +
g(t + s)

g(s)
d(y, z)

;�� :	� g(t+s)
g(t) ≥ 1 �	�� g �� 
��
�����<3 ��� �����

d(x, z)
g(t + s)

≤ d(x, y)
g(t)

+
d(y, z)
g(s)

�� 
����
	��
��

e
d(x,z)
g(t+s) ≤ e

d(x,y)
g(t) · e d(y,z)

g(s)

� ��� �� �����

e
− d(x,z)

g(t+s) ≥ e
− d(x,y)

g(t) · e− d(y,z)
g(s)

� ��) ������� ���-��� :	� M(x, z, t + s) ≥ M(x, y, t) · M(y, z, s)� �

*��
 ������ 5� ���� �
�� �
�
 �
�
 x ∈ X r ∈]0, 1[ 	 t > 0 �� �����

�������
� ��� B(x, r, t) = BR(x) ����� R = g(t) ln 1
1−r 0 ���� �����������
 

�
�
 �
�
 x ∈ X 	 R > 0 ������� ��� BR(x) = B(x, r, t) ����� r = 1− 1

e
R

g(t)

�
�
 ���� t > 0 	 
�) τM �������� ��� τ(d)0

������� ����"� ���� �
�� �
������
� �� �
 ����������� 
������� �� ���
���

g(t) = t �� �,08� ��������� �
 ������� M �
�
 ���

M(x, y, t) = e−
d(x,y)

t

5� ���� �
�� (M,∧) �� ��
 ������� �	

� ����� X ��� ������� ��� ��

$%&'0



"' �����
�� �� ��
���	� �����

������� ������ ?�� ���� �
�� �� ���
��� �� �,08� �
 ������� �����
���

g(t) = k > 0 �������

M(x, y, t) = e
−d(x,y)

k

5� ���� �
�� (M, ·) �� ��
 ������� �	

� ����� X ���� �� 
����
� (M,∧)

�� �� ��0

5� ������ ������� X = R k = 1 d(x, y) = |x − y| 	 x = 0 y = 1
2 	

z = 10 1� ����� ���������

1
ed(x,z)

< min

{
1

ed(x,y)
,

1
ed(y,z)

}
	
 ���

1
e

< min

{
1

e
1
2

,
1

e
1
2

}
���� e > e

1
2 .

������	�	
� ���� � 1�
 (X, d) �� ���
��� �!����� �
� ��� d(x, y) < k 

∀x, y ∈ X0 1�
 g : R+ →]k,+∞[ ��
 ������� �������
 	 ���������0 2�4�

����� �
 ������� M ���

M(x, y, t) = 1 − d(x, y)
g(t)

;���<

5������� (M,L) �� ��
 ������� �	

� ����� X0

2������
����0

(GV 1) ������ :	� M(x, y, t) > 0� �� ���
��3 
��� g(t) > k � d(x, y) < k

�����
��

M(x, y, t) = 1 − d(x, y)
g(t)

> 0

�	�� d(x, y) < k � g(t) ∈]k,+∞[�

(GV 2) ������ :	� M(x, y, t) = 1 ⇔ x = y� �� ���
��H

M(x, y, t) = 1 ⇔ 1 − d(x, y)
g(t)

= 1 ⇔ d(x, y)
g(t)

= 0 ⇔ d(x, y) = 0 ⇔ x = y

(GV 3) N-+������� M(x, y, t) = M(y, x, t) ∀x, y ∈ X�



��
���	� ����� �������	� ����	�
� ��
���	� "�

(GV 4) ������ :	� �� +��� 
� :	�

M(x, z, t + s) ≥ max {0,M(x, y, t) + M(y, z, s) − 1} .

*��� d(x, z) ≤ d(x, y) + d(y, z)3 �����
��

d(x, z)
g(t + s)

≤ d(x, y)
g(t + s)

+
d(y, z)
g(t + s)

� 
��� g(t + s) > g(t) � g(t + s) > g(s)3 �	�� g �� 
��
�����3 �����
��

d(x, z)
g(t + s)

≤ d(x, y)
g(t)

+
d(y, z)
g(s)

⇒ −d(x, z)
g(t + s)

≥ −d(x, y)
g(t)

− d(y, z)
g(s)

⇒

⇒ 1 − d(x, z)
g(t + s)

≥ 1 − d(x, y)
g(t)

+ 1 − d(y, z)
g(s)

− 1

� ��) ������� :	� M(x, z, t + s) ≥ max {0,M(x, y, t) + M(y, z, s) − 1}

(GV 5) M(x, y,−) :]0,+∞[→ [0, 1] �� �-+������� 
�����	� �	�� g �� 
��%

���	�� �

*��
 ������ 5� ���� �
�� �
�
 �
�
 x ∈ X r ∈]0, 1[ 	 t > 0 ������� ���

B(x, r, t) = Br·g(t)(x)0

���� �����������
 �
�
 �
�
 x ∈ X 	 R > 0 ������� ��� BR(x) =

B(x, r, t) ����� r = R
g(t) �
�
 ���� t > 0 	 
�) τM �������� ��� τ(d)0

������� ����#� 1� 
���
 �� �,0@� ���
��� g ���� ��
 ������� �����
���

g(t) = K > k �������� ��������� �
 ������� M �
�
 ���

M(x, y) = 1 − d(x, y)
K



"� �����
�� �� ��
���	� �����

	 �� ���� �
�� (M,L) �� ��
 ������� �	

� �
���������� ����� X ����

(M, ·) �� 
����
� �� �� ��0

?
�
 ��� ��� �� ���� <����� �
�� (M, ·) �� �� ��
 �!����
 ����	 �
��


���
� X = [0, 10] d(x, y) = |x− y| 	 x = 0 y = 1 	 z = 20 7�) ������� ���

M(x, z) = 1 − 2
K

≤ M(x, y) · M(y, z) =

= (1 − 1
K

) · (1 − 1
K

) = (1 − 1
K

)2 = 1 − 2
K

+
1

K2
.


� � !� �����
� �	��� ���
����

������	�	
� ��"��� 1�
 ϕ : R+ →]0, 1[ ��
 ������� �������
 	 ���������0

2�4����� ����� �� �������� X �
 ������� M ���

M(x, y, t) =


1, �� x = y

ϕ(t), �� x �= y
;��&<

5������� (M,∧) �� ��
 ������� �	

� ����� X0

2������
����0

#�� ����������� (GV 1) − (GV 3) � (GV 5) ��� �+��������

������ (GV 4)� 1��� x, y, z ∈ X� ������ :	�

M(x, z, t + s) ≥ min {M(x, y, t),M(y, z, s)} .

1� x = z �= y �����
�� �-+�������

M(x, z, t + s) = 1 ≥ min {ϕ(t), ϕ(s)} = M(x, y, t) ∧ M(y, z, s).



��
���	� ����� �������	� ��� ��������� ����
���	� "�

1� x �= z -���� �-���+�� :	�

ϕ(t + s) ≥ ϕ(t) � :	� ϕ(t + s) ≥ ϕ(s), �	�� ϕ �� 
��
����� .

�

�� �����
	���3 �� ϕ �� 
��������3 ϕ(t) = k ∈]0, 1[3 �-������� �� �����
�

�	��� ����
�������

M(x, y, t) =


1, �� x = y

k, �� x �= y

:	� ���������� �� ����	�
 ����� �	�����
� 1	 ���-�� +���� 2	��� 
���

���:	� ���
��+������ �� �������)� ���
���� � ��
7� �����
� �� �� �������)�

���
����� 0��� ����3 -���� �-���+�� :	� {x} �� �-����� �� (X, τM ) ���� 
	��%

:	��� x ∈ X� �� ���
��3 B(x, 1 − ϕ(t), t) = {x}


�"� �����
�� �	��� �������� ��� �	�
����� ��������


��

������	�	
� ������ 1�
 F : X ×X →]0, 1
2 [ ��
 ������� ���!����
 �� ����� 

F (x, y) = F (y, x) ∀x, y ∈ X0 2�4����� �
 ������� M ���

M(x, y) =


1, �� x = y

F (x, y), �� x �= y
;��$<

5������� (M,L) �� ��
 ������� �	

� �
���������� ����� X0

2������
����0

#� ����������� (GV 1) − (GV 3) � (GV 5) ��� �+��������



"" �����
�� �� ��
���	� �����

������ (GV 4)� 1��� x, y, z ∈ X� ������ :	� �� +��� 
� :	�

M(x, z) ≥ max {0,M(x, y) + M(y, z) − 1}

1� 	� ��� �� ��������� ��� ��	����3 �� �����	����� �� �-+���

1	�������� :	� ��� ��������� x, y, z ��� ��� ���� ��������� ��� � ����

�����
��H

M(x, y) + M(y, z) = F (x, y) + F (y, z) <
1
2

+
1
2

= 1

5�) :	��� ���-��� �� 
	��:	��� 
��� �� �����	����� ������	���� �

*��� ����
�
���3 
����������� �� �	�
��� F (x, y) = cos2 x − sen2 y�

������ :	� F (x, y) = cos2 x − sen2 y �� �������
�� 1� ����� :	�

F (x, y) − F (y, x) = cos2 x − sen2 y − cos2 y + sen2 x = 0

� ��� �� ����� F (x, y) = F (y, x)�

N-+������� 0 < F (x, y) < 1
2 3 ∀x, y ∈]0, π

4 [�

#	��� F 
	���� �� ]0, π
4 [ ��� 
����
����� �� �� �������
��� ���������

�����
��3 �� ������� X =]0, π
4 [ � F (x, y) = cos2 x− sen2 y3 ������� :	�

;��$< �� 
��+����� ��

M(x, y) =


1, �� x = y

cos2 x − sen2 y, �� x �= y

� (M,L) �� 	�� ����	�
 ����� ���
�	��
�	
 ��-�� X ���� (M, ·) �� �� ���
�� ���
��3 -���� ����� x = 11π

45 3 y = π
180 � z = 43π

180 3 � �� ����� :	�

M(x, z) ∼= 0, 052



��
���	� ����� �������	� ��� ��������� ����
���	� "


�������� :	�

M(x, y) · M(y, z) ∼= 0, 516 · 0, 534 ∼= 0, 27.

������	�	
� ������ 1�
 f : Y →]0, 1
2 [ ��
 ������� 	 X �� �������� ��

�<����� ��
��� �
��� ��� x + y ∈ Y  ∀x, y ∈ X0 2�4����� �
 ������� M ���

M(x, y) =


1, �� x = y

f(x + y), �� x �= y
;���'<

5������� (M,L) �� ��
 ������� �	

� �
���������� ����� X0 �A��!�����

��� F (x, y) = f(x + y) �� ��
 ������� ���!����
�0

2������
����0

#�� ����������� (GV 1) − (GV 3) � (GV 5) ��� �+��������

������ (GV 4)� 1��� x, y, z ∈ X� >������ :	� +�� :	�

M(x, z) ≥ max {0,M(x, y) + M(y, z) − 1}

� �	��������� :	� M(x, y)+M(y, z) > 13 �	�� �� �� 
�������� �� �����	�����

�� �-+���

1� x = z �= y3 �� �+�������

1� x = y �= z3 �����
��

M(x, z) = f(x+z) = 1+f(x+z)−1 = 1+f(y, z)−1 = M(x, y)+M(y, z)−1

1� x �= y �= z �= z3 �����
��

M(x, y) + M(y, z) − 1 = f(x + y) + f(y + z) − 1 <



"! �����
�� �� ��
���	� �����

<
1
2

+
1
2
− 1 = 1 − 1 = 0 < f(x + z) = M(x, z)

�

*��� 
��� �����
	���3 �� ������� X =]π6 , π
4 [ � f(x) = cos x3 �-�������

:	� f(x) ∈]0, 1
2 [� E� �����

M(x, y) =


1, �� x = y

cos(x + y), �� x �= y

� ���4� �� �������
��� ��������3 (M,L) �� 	�� ����	�
 ����� ��-�� X ����

(M, ·) �� �� ��� �� ���
��3 -���� ����� x = 11π
45 3 y = 31π

180 � z = 43π
180 3 � �������

:	�

M(x, y) · M(y, z) ∼= 0, 258 · 0, 275 = 0, 07

�������� :	�

M(x, z) ∼= 0, 052 < 0, 07 = M(x, y) · M(y, z).

������	�	
� ������ 1�
 f : Y →]0, 1
2 [ ��
 ������� 	 X �� �������� ��

�<����� ��
��� �
��� ��� x− y ∈ Y 0 1����

��� ��� f(z) = f(−z) ∀z ∈ Y 0

2�4����� �
 ������� M ���

M(x, y) =


1, �� x = y

f(x − y), �� x �= y
;����<

5������� (M,L) �� ��
 ������� �	

� �
���������� ����� X0 �A��!�����

��� F (x, y) = f(x − y) �� ��
 ������� ���!����
�0

#� ��������
��� �� ��.���� � �� ���������

*��� 
��� �����
	���3 �� ������� X =
]
0,

√
2

4

[
� f(x) = x23 �������

M(x, y) =


1, �� x = y

(x − y)2, �� x �= y



��
���	� ����� �������	� ��� ��������� ����
���	� "�

�����
�� (M,L) �� 	�� ����	�
 ����� ���
�	��
�	
 ��-�� X3 ���� (M, ·)
�� �� ��� �� ���
��3 ���� +�� :	� M 
	���� ��� 
����
����� �� �� �������
���3

������� :	� +�� :	�

0 < (x − y)2 <
1
2
,∀x, y ∈

]
0,

√
2

4

[

�� ���
��3 �� x, y ∈
]
0,

√
2

4

[
�����
�� −

√
2

4 < x − y <
√

2
4 3 �	��� ;x − y)2 <

(
√

2
4 )2 = 2

16 = 1
8 �

5���.� f(x) = x2 = f(−x) � F (x, y) = f(x−y) �� 	�� �	�
��� �������
��

0�� ���� ����3 ���� +�� :	� (M, ·) �� �� 	�� �����
� �	���3 -���� �����

x = 0, 01 3 y = 0, 3 � z = 0, 001� E� ���� ����� ������� :	�

M(x, z) = (x − z)2 = 0, 0092 = 0, 000081

M(x, y) · M(y, z) = (x − y)2 · (y − z)2 = 0, 0841 · 0, 089401 ∼= 0, 00751

#	���

M(x, z) < M(x, y) · M(y, z).

������	�	
� ����"� 1�
 f : X →]0, 1
2 [ ��
 ������� 	 ��4����� M ���

M(x, y) =


1, �� x = y

f(x) + f(y), �� x �= y
;����<

5������� (M,L) �� ��
 ������� �	

� �
���������� ����� X0 A��!�����

��� F (x, y) = f(x) + f(y) �� ��
 ������� ���!����
 	 ��� 
���
 �
 ��

��

�� F �� ]0, 1[ �� ����� F : X × X →]0, 1[0

2������
����0

#�� ����������� (GV 1) − (GV 3) � (GV 5) ��� �+��������



"& �����
�� �� ��
���	� �����

������ (GV 4)� 1��� x, y, z ∈ X� ������ :	�

M(x, z) ≥ max {0,M(x, y) + M(y, z) − 1} .

1	��������� :	� M(x, y)+M(y, z) > 13 �	�� �� �� 
�������� �� �����	�����

�� �-+���

1� x �= y �= z �= x3

M(x, z) ≥ M(x, y) + M(y, z) − 1 ⇔

⇔ f(x) + f(z) ≥ f(x) + f(y) + f(y) + f(z) − 1 ⇔ 0 ≥ 2f(y) − 1

0��� �� ����� :	�

2f(y) − 1 < 2 · 1
2
− 1 = 1 − 1 = 0 ⇒

⇒ M(x, z) ≥ M(x, y) + M(y, z) − 1

1� x = z �= y3 �� �����	����� �� �-+���

1� x = y �= z3 � �� y = z �= x3 �� �� 
��������� �� ��	������ �

������� ������ ���� �
�� �
������
� �� �
 ?���������� ,0.0& �� X =

]2,+∞[ 	 ���
��� f(x) = 1
x  �������

M(x, y) =


1, �� x = y

1
x + 1

y , �� x �= y

5������� (M,L) �� ��
 ������� �	

� �
���������� ����� X ���� (M, ·)
�� �� ��0

?
�
 ��� ��� (M, ·) �� �� ��
 �!����
 ����	 �
��
 ���
� x = 1000 y = 3

	 z = 10000 	 
�)

M(x, z) =
(

1
1000

+
1

10000

)
= 1, 1 · 10−3 <



��
���	� ����� �������	� 	 �	�
�� �� �� �	� �� ��������� "$

<

(
1

1000
+

1
3

)
·
(

1
3

+
1

10000

)
= M(x, y) · M(y, z).

7����� �� x ∈ X 	 ���
��� r < 1
2 − 1

x  �������� B(x, r, t) = {x} 	 ���

�� �
��� τM �� �
 ������
)
 �������
0

������� ���� � ���� �
�� �
������
� �� �
 ?���������� ,0.0& �� X =]0, 1
2 [

	 ���
��� f ���� �
 ������� �������
� ����� X �������

M(x, y) =


1, �� x = y

x + y, �� x �= y

5������� (M,L) �� ��
 ������� �	

� ����� X ���� (M, ·) �� �� ��0

?
�
 ��� ��� (X,M, ·) �� �� �� ���
��� �!����� ����	 �
��
 ���
� x =

0, 001 y = 0, 4 	 z = 0, 0001 	 ��������

M(x, z) = x + z = 0, 0011 < 0, 1604 = (x + y) · (y + z) = M(x, y) · M(y, z).

7����� B(x, r, t) = {y ∈ X : x + y > 1 − r}0 1� ���
��� 0 < r < 1
2 − x 

�������� B(x, r, t) = {x} 	 ��� �� �
��� τM �� �
 ������
)
 �������
0


�#� �����
�� �	��� �������� � ������ �� 	� ��� ��

�	�
�����

������	�	
� �� ��� 1�
� g, h : X →]0, 1[ ��� ��������� ��� ������� ���

sup {g(x) : x ∈ X} < inf {h(x) : x ∈ X} 	 (h + g)(x) = c0 2�4����� �


������� M ���

M(x, y) =


1, �� x = y

h(x) − g(y), �� x �= y
;����<

5������� (M,L) �� ��
 ������� �	

� �
���������� ����� X0




' �����
�� �� ��
���	� �����

2������
����0

(GV 1) M(x, y) > 0 ��� �� ��
��� �� g � h�

(GV 2) M(x, y) = 1 ⇔ x = y3 �� �-+�� ��� �� ��
��� �� M �

(GV 3) M(x, y) = h(x) − g(y) = c − g(x) − g(y) =

= (c − g(y)) − g(x) = h(y) − g(x) = M(y, x)�

(GV 4) 1��� x, y, z ∈ X� ������ :	�

M(x, z) ≥ M(x, y) ∗ M(y, z) = max {0,M(x, y) + M(y, z) − 1}

1	��������� :	� M(x, y) + M(y, z) > 1 �	�� �� �� 
�������� �� �����	�����

�� �-+���

1� x = z3 �� �����	����� �� �-+���

1� x �= y �= z �= x3 �����
�� �� �����H

M(x, z) = h(x) − g(z) = h(x) − g(y) + g(y) − g(z) =

= h(x) − g(y) + (c − h(y)) − g(z) ≥

≥ h(x) − g(y) + h(y) − g(z) − 1 = M(x, y) L M(y, z).

�

5���.�3 
��� ��� �	�
����� h � g �������
�� :	� (h + g)(x) = c3 
��

0 < c < 23 ∀x ∈ X3 �����
�� M �� �	��� ��
��-�� 
���

M(x, y) =


1, �� x = y

h(x) + h(y) − c, �� x �= y



��
���	� ����� �������	� 	 �	�
�� �� �� �	� �� ��������� 
�

���� 4����� �����
� �	��� �	��� 
����������� 
��� 	� 
��� �����
	��� ��

�� 0������
��� ��
�" 
	���� c < 1� �� ���
��3 �� ������� f(x) = h(x) − c
2

�����
��

h(x) + h(y) − c = f(x) + f(y)

�

f(x) = c − g(x) − c

2
=

c

2
− g(x) <

c

2
<

1
2
.

������� �� ��� 1� �� �
 ?���������� ,080% ���
��� X =]0, 1
2 [ h(x) = 1−x

	 g(x) = x �������

M(x, y) =


1, �� x = y

1 − x − y, �� x �= y

5������� (M,L) �� ��
 ������� �	

� �
���������� ����� X0 ��
�� �
��

�����
� �� �
 ?���������� ,080%� ���� (M, ·) �� �� ��0 ?
�
 ����4�
��� �
��


���
� x = 0, 4 y = 0, 001 	 z = 0, 45 	 
�) ������� ���

M(x, z) = 1 − 0, 4 − 0, 45 < M(x, y) · M(y, z) =

= (1 − 0, 4 − 0, 001) · (1 − 0, 001 − 0, 45) = 0, 599 · 0, 549 = 0, 3288.

#�
��� ��� �
 ������
)
 �� (X,M,L) �� �
 ������
)
 �������
0

B(x, r) = {y ∈ X : M(x, y) > 1 − r} ∪ {x} =

= {y ∈ X : 1 − x − y > 1 − r} ∪ {x} = {y ∈ X : y < r − x} =

= {x}∪]0, r − x[ �� r > x

1� ���
��� r < x  ����� ��
�
����� ��� B(x, r) = {x} 	 ��� �� �
��� �


������
)
 
����
�
 
 �
 �!����
 M �� �
 ������
)
 �������
0




� �����
�� �� ��
���	� �����

������	�	
� �� ��� 1�
� f, g : X →]0, 1
2 [ �
��� ��� f > g 	 (f − g)(x) = c

��� 0 < c < 1
2  ∀x ∈ X0 2�4����� M ���

M(x, y) =


1, �� x = y

f(x) + g(y), �� x �= y
;���"<

5������� (M,L) �� ��
 ������� �	

� �
���������� ����� X0

2������
����0

#�� ����������� (GV 1)3 (GV 2) � (GV 5) ��� �+��������

(GV 3) ������ :	� M(x, y) = M(y, x)� 0��� ���� ������� :	� +�� :	�

f(x) + g(y) = f(y) + g(x),

:	� �� �� ����� :	� ���-�� :	�

f(x) + g(y) − f(y) − g(x) = 0.

�� ���
��3

f(x) − g(x) − (f(y) − g(y)) = c − c = 0.

(GV 4) ������ :	�

M(x, z) ≥ max {0,M(x, y) + M(y, z) − 1} .

1��� x, y, z ∈ X� 1	��������� :	� M(x, y)+M(y, z) > 13 �� �� 
��������

�� �����	����� �� �-+���

1� x �= y �= z �= x3

M(x, y) + M(y, z) − 1 = f(x) + g(y) + f(y) + g(z) − 1 <



��
���	� ����� �������	� ��� 
�����	� ���
���	� 
�

< f(x) +
1
2

+
1
2

+ g(z) − 1 = f(x) + g(z) = M(x, z).

1� x = z �= y3 �� �����	����� �� �-+���

1� x = y �= z3 �� �� 
��������� �� ��	�����3 �	��

M(x, y) + M(y, z) − 1 = 1 + f(y) + g(z) − 1 = f(x) + g(z) = M(x, z).

1� x �= y = z3 ���-��� �� �� �� ��	�����3 �� :	�

M(x, y) + M(y, z) − 1 = f(x) + f(y) + 1 − 1 = f(x) + f(z) = M(x, z).

�

*��
 �� �"� A��!����� ��� �
 ���
���� �,0%&� �
���!� �� ����� ��������

����

M(x, y) =


1, �� x = y

g(x) + g(y) + c, �� x �= y


�$� �����
�� �	��� �������� ��� �������� 
�����

�	��

������	�	
� ������ 1�
 f : X →]0, 1] ��
 ������� �
� ��� f(x) ∗ f(y) �= 0 

∀x, y ∈ X0 2�4����� �
 ������� M ���

M(x, y) =


1, �� x = y

f(x) ∗ f(y), �� x �= y
;���
<

5������� (M, ∗) �� ��
 ������� �	

� �
���������� ����� X0




" �����
�� �� ��
���	� �����

2������
����0

#�� ����������� (GV 1) − (GV 3) � (GV 5) ��� �+��������

������ (GV 4)� 0��� 
��� x, y, z ∈ X ������� :	� +�� :	�

M(x, y) ∗ M(y, z) ≤ M(x, z).

�� ���
��

M(x, y) ∗ M(y, z) = f(x) ∗ f(y) ∗ f(y) ∗ f(z) ≤ f(x) ∗ f(z) = M(x, z).

�

������� ������ 5� �
������
� �� �� �
 ?���������� ,0@0% ���
��� X ⊂]0, 1]

	 f : X →]0, 1] �� �
 ������� �������
� �������

M(x, y) =


1, �� x = y

x · y, �� x �= y
;���!<

5������� (M, ·) �� ��
 ������� �	

� �
���������� ����� X ���� (M,∧)

�� �� ��0 ?
�
 ����� �
��
 ���
� x = 0, 1 y = 0, 9 	 z = 0, 2 	 
�)

M(x, z) = x · z < 0, 02 < min {xy, yz} =

= min {0, 09; 0, 18} = 0, 09 = min {M(x, y),M(y, z)}

*��
 ������ /
� ���
� 
�����
� �� (X,M, ·) ��� �� �
 ����


B(x, r, t) = {y ∈ X : M(x, y) > 1 − r} =

= {y ∈ X : x · y > 1 − r} =
{

y ∈ X : y >
1 − r

x

}
=
]
1 − r

x
, 1
]
∪ {x}

9��
��� r �
� ��� 1−r > x �� ����� ��� 1−r
x > 1 	 �������� B(x, r, t) =

{x} ��� �� ��
� τM �� �
 ������
)
 �������
0



��
���	� ����� �������	� ��� 
�����	� ���
���	� 



������� ����"� 1� 
���
 ���
��� X =]1,+∞[ 	 f(x) = 1
x  �������

M(x, y) =


1, �� x = y

1
x·y , �� x �= y

5������� (M, ·) �� ��
 ������� �	

� �
���������� ����� X ����� ������

��
�
����� �
� ����������� �� �
 ?���������� ,0@0%� ���� (M,∧) �� �� ��0 ?
�


����� �� ��4������ ���
� x = 10 y = 2 	 z = 20 	 
�) ������� ���

M(x, z) =
1
10

· 1
20

=
1

200
< min

{
1
20

,
1
40

}
=

1
40

= min {M(x, y),M(y, z)}

*��
 ������ 2
�� x ∈ X 

B(x, r, t) = {y ∈ X : M(x, y) > 1 − r} =

=
{

y ∈ X :
1
xy

> 1 − r

}
=
{

y ∈ X : y <
1

x(1 − r)

}

9��
��� r ∈]0, 1[ �
� ��� 1 − r > 1
x  ��������� �� B(x, r, t) = {x} ���

�� ��� �
 ������
)
 
����
�
 
 �
 �!����
 M �� �
 ������
)
 �������
0

������� ���� � 1� ���
��� X =]0, π[ 	 f(x) = sen x �������� ���������

M(x, y) =


1, �� x = y

sen x · sen y, �� x �= y

5������� (M, ·) �� ��
 ������� �	

� �
���������� ����� X 	
 ��� f(x) =

sen x ������ ��� f(x) ·f(y) = sen x ·sen y �= 0 ∀x, y ∈]0, π[ 	 f ���
 �
�����

�� ]0, 1] ���� (M,∧) �� �� ��0

?
�
 ����
� ��� (M,∧) �� �� ��
 �!����
 ����	 �
��
 ���
� x = π
4  

y = π
2 	 z = π

6  	 
�)

M(x, z) = sen
π

4
·sen π

6
=

√
2

2
·1
2

=
√

2
4

< min
{
sen

π

4
· sen π

2
, sen

π

6
· sen π

2

}
=




! �����
�� �� ��
���	� �����

= min

{√
2

2
,
1
2

}
= min {M(x, y),M(y, z)}

*��
 ������ 2
�� x ∈ X =]0, π[ 

B(x, r, t) = {y ∈ X : M(x, y) > 1 − r} =

= {y ∈ X : sen x · sen y > 1 − r} =
{

y ∈ X : sen y >
1 − r

sen x

}

9��
��� r > 1 − sen x �������� 1−r
sen x > 1 	 
�) B(x, r, t) = {x} ��� ��

��� τM �� �
 ������
)
 �������
0


�%� �����
�� �	��� �������� ��� �����
�� �	���

������	�	
� ��#��� 1�
� (N, ·) ��
 ������� �	

� ����� X 	 ϕ :]0,+∞[→
R+ ��
 ������� �������
 	 ���������0 2�4����� M ���

M(x, y, t) =
ϕ(t) + N(x, y, t)

ϕ(t) + 1
;����<

5������� (M, ·) �� ��
 ������� �	

� ����� X0

2������
����0

#�� ����������� (GV 1) − (GV 3) � (GV 5) ��� �+��������

������ (GV 4)� 1��� a, b ∈]0, 1]� *��� ϕ �� 
��
�����3 �� �.
�� +�� :	�

ϕ(t) + a

ϕ(t) + 1
· ϕ(s) + b

ϕ(s) + 1
≤ ϕ(t + s) + a

ϕ(t + s) + 1
· ϕ(t + s) + b

ϕ(t + s) + 1
≤ ϕ(t + s) + ab

ϕ(t + s) + 1

�����
��3 ���� x, y, z ∈ X3 t > 03 �������

M(x, y, t) · M(y, z, s) =
ϕ(t) + N(x, y, t)

ϕ(t) + 1
· ϕ(s) + N(y, z, s)

ϕ(s) + 1
≤



��
���	� ����� �������	� ��� ��
���	� ����� 
�

≤ ϕ(t + s) + N(x, y, t) · N(y, z, s)
ϕ(t + s) + 1

≤

≤ ϕ(t + s) + N(x, z, t + s)
ϕ(t + s) + 1

= M(x, z, t + s)

�

������	�	
� ��#��� 1�
� (N, ∗) ��
 �!����
 ����	 ����� X 	 ϕ : R+ →]0, 1]

��
 ������� �������
 	 ���������0 1����

��� ��� N(x, y, t) ∗ ϕ(t) �= 0 

∀x, y ∈ X t > 00 2�4����� �
 ������� M ���

M(x, y, t) =


1, �� x = y

N(x, y, t) ∗ ϕ(t), �� x �= y
;���&<

5������� (M, ∗) �� ��
 ������� �	

� ����� X0

2������
����0

#�� ����������� (GV 1) − (GV 3) � (GV 5) ��� �+��������

������ (GV 4)� 0��� ���� ������� :	� ���-�� :	�

M(x, y, t) ∗ M(y, z, s) ≤ M(x, z, t + s).

1��� x, y, z ∈ X3 t > 0� �� ��� 
���� �� :	� x = z3 � x = y � y = z3 ��

�����	����� �� �-+���

1	�������� :	� x �= y �= z �= x� �����
�� �� ����� :	�

M(x, y, t) ∗ M(y, z, s) = N(x, y, t) ∗ ϕ(t) ∗ N(y, z, s) ∗ ϕ(s) =

= N(x, y, t) ∗ N(y, z, s) ∗ ϕ(t) ∗ ϕ(s) ≤




& �����
�� �� ��
���	� �����

≤ N(x, z, t + s) ∗ ϕ(t) ∗ ϕ(s) ≤

≤ N(x, z, t + s) ∗ ϕ(t + s) = M(x, z, t + s).

#� 4����� �����	����� �� 
����� ���:	� ϕ �� 
��
������

5�) �	��3 ������� ���-��� �� ��������� (GV 4) � ��� �� ����� :	� (M, ∗)
�� 	�� ����	�
 ����� ��-�� X� �

*��
 ��#��� #�
��� 
���
 ��� τM �� �
 ������
)
 �������
0 1�
 t0 > 0 ��

�
��� ��
� ��� ����4�
 ϕ(t0) < 10 1� ����� ���

BM (x, r, t0) = {y ∈ X : N(x, y, t0) ∗ ϕ(t0) > 1 − r} ∪ {x} .

1� ���
���� 
���
 r ∈]0, 1[ �� �
���
 ��� 1 − r > ϕ(t0) ��������

BM (x, r, t0) = {x} 	 ��� �
��� τM �� �
 ������
)
 �������
0

������� ��#�"� ���� �
�� �
������
� �� �� �
 ?���������� ,0B0, ���
���

X = {1} ∪
{

1 − 1
n+1 : n ∈ N

}
	 ���
��� ϕ : R+ →]0, 1] ����

ϕ(t) =


t, �� t < 1

1, �� t ≥ 1

	 N �� �
 ������� �	

� ����� X �� �
 ���
���� �,0%8� ��4���
 ���

N(x, y) =


1, �� x = y

f(x) · f(y), �� x �= y

5������� �������

M(x, y, t) =




1, �� x = y

txy, �� x �= y, t < 1

xy, �� x �= y, t ≥ 1



��
���	� ����� �������	� ��� ��
���	� ����� 
$

7�) (M, ·) �� ��
 ������� �	

� ����� X �5������ %> �� $,&'�0 7����� 

�
�
 �
�
 x ∈ X B(x, 1
2 , 1

2) = {x} ��� �� �
��� τM �� �
 ������
)
 �������


�� X0

������	�	
� ��#��� 1�
 (X,N, ·) �� ���
��� �!����� ����	 ���
����
��� 	

h : R+ → R+ ��
 ������� �������
 	 ���������0 2�4����� �
 ������� M ���

M(x, y, t) =
h(t)

h(t) + 1 − N(x, y, t)
;���$<

5������� (M, ·) �� ��
 ������� �	

� ����� X0

2������
����0

#�� ����������� (GV 1) − (GV 3) � (GV 5) ��� �+��������

������ (GV 4)� 1��� x, y, z ∈ X� ������ :	�

M(x, z, t + s) ≥ M(x, y, t) · M(y, z, s).

0��� 
��� x, y, z ∈ X � t > 03 �������

(1 − N(x, y))(1 − N(y, z)) = 1 + N(x, y)N(y, z) − N(x, y) − N(y, z) ≥ 0

� ��)

ϕ(t)(1−N(x, y))(1−N(y, z)) + 1 + N(x, y)N(y, z)−N(x, y)−N(y, z) ≥ 0.

57��� �������H

(ϕ(t) + 1 − N(x, y))(ϕ(t) + 1 − N(y, z)) ≥ ϕ(t)(ϕ(t) + 1 − N(x, z))

� �:	�+�����������

1
ϕ(t) + 1 − N(x, z)

≥ 1
ϕ(t) + 1 − N(x, y)

· ϕ(t)
ϕ(t) + 1 − N(y, z)



!' �����
�� �� ��
���	� �����

� ��� �� �����

ϕ(t)
ϕ(t) + 1 − N(x, z)

≥ ϕ(t)
ϕ(t) + 1 − N(x, y)

· ϕ(t)
ϕ(t) + 1 − N(y, z)

� 
��� 
����
	��
��

ϕ(t + s)
ϕ(t + s) + 1 − N(x, z)

≥ ϕ(t + s)
ϕ(t + s) + 1 − N(x, y)

· ϕ(t + s)
ϕ(t + s) + 1 − N(y, z)

≥

≥ ϕ(t)
ϕ(t) + 1 − N(x, y)

· ϕ(s)
ϕ(s) + 1 − N(y, z)

�� :	� ϕ �� 
��
�����3 � ��� �� ����� ������� ���-��� :	�

M(x, z, t + s) ≥ M(x, y, t) · M(y, z, s).

�


�&� �����
�� �	��� �������� ��� �����
�����

������	�	
� ��!��� 1�
 ϕ : R+ →]0, 1] ��
 ������� �������
 	 ��������� 	

��
 X = A ∪ B ��� A ∩ B = φ0 1�
 (N, ∗) ��
 �!����
 ����	 ����� X �
�

��� N(x, y, t) ∗ ϕ(t) �= 0 ∀x, y ∈ X 	 t > 00 2�4����� �
 ������� M ���

M(x, y, t) =


N(x, y, t), �� x, y ∈ A � x, y ∈ B

N(x, y, t) ∗ ϕ(t), �� ���� �
��
;���'<

5������� (M, ∗) �� ��
 ������� �	

� ����� X0

2������
����0



��
���	� ����� �������	� ��� �	�
������� !�

#�� ����������� (GV 1) − (GV 3) � (GV 5) ��� �+��������

(GV 4) ������ :	� M(x, y, t) ∗ M(y, z, s) ≤ M(x, z, t + s)

1� x, y, z ∈ A � x, y, z ∈ B3 �� ��	�-� �� �-+�� �	�� N �� 	�� �����
�

�	����

1� x, y ∈ A � z ∈ B � x, y ∈ B � z ∈ A3 �����
��

M(x, y, t) ∗M(y, z, s) = N(x, y, t) ∗N(y, z, s) ∗ϕ(t) ≤ N(x, z, t + s) ∗ϕ(t) ≤

≤ N(x, z, t + s) ∗ ϕ(t + s) = M(x, z, t + s)

1� x, z ∈ A � y ∈ B � x, z ∈ B � y ∈ A3 �����
��

M(x, y, t) ∗ M(y, z, s) = N(x, y, t) ∗ ϕ(t) ∗ N(y, z, s) ∗ ϕ(s) =

= N(x, y, t) ∗ N(y, z, s) ∗ ϕ(t) ∗ ϕ(s) ≤ N(x, y, t) ∗ N(y, z, s) ∗ 1 ∗ 1 =

= N(x, y, t) ∗ N(y, z, s) ∗ 1 = N(x, z, t + s) = M(x, z, t + s)

�

*��
 ��!��� #
��� 
 ��������
� 
���
 B(x, r, t)0 1����

��� ��� x ∈ A 

��������

B(x, r, t) = {y ∈ X : M(x, y, t) > 1 − r} =

= {y ∈ A : M(x, y, t) > 1 − r} ∪ {y ∈ B : M(x, y, t) > 1 − r} =

= {y ∈ A : N(x, y, t) > 1 − r} ∪ {y ∈ B : N(x, y, t) ∗ ϕ(t) > 1 − r}

1� ���
��� t0 > 0 �
� ��� ϕ(t0) < 1 	 r �
� ��� 1 − r > ϕ(t0) ��������

τNA
∪ {x} �� ����� �
 ������
)
 �� �
 ����
 ��� τN ���� �������
��
 
 �


�
������� A0



!� �����
�� �� ��
���	� �����

������� ��!��� ���� �
�� �
������
� �� �
 ?���������� ,0>0% ������������

�
 ��
������ �!����
 ����	 M 0 1�
 N �� �������� ����	 ����� ]0, 1]2 × R+

��4���� ���

N(x, y) =


1, �� x = y

x ∗ y, �� x �= y

����� x∗y �= 0 ∀x, y ∈]0, 1]0 1�
<� �
 ?���������� ,0@0% (N, ·) �� ��
 �!����


����	 ����� ]0, 1]0 1�
� A,B ⊂]0, 1] �
��� ��� A ∪ B =]0, 1] 	 A ∩ B = φ 	

������������ �
 ������� ϕ : R+ →]0, 1] ��4���
 ���

ϕ(t) =


t, �� 0 < t < 1

1, �� t ≥ 1

2�4����� �
 ������� M ���

M(x, y, t) =




1, �� x = y

x ∗ y, �� x, y ∈ A � x, y,∈ B

x ∗ y ∗ ϕ(t) �� ���� �
��

5������� (M, ∗) �� ��
 ������� �	

� ����� X0


��'� �(������� �� 	�� �����
� �	���

������� ����	
��	 
� 
�
 �������
 ����� ���	��
�	��
 �	 
�

��
���	��

������	�	
� ���+��� 1�
� H 	 K ��� ��������� ��������� ��� H ∩ K �= φ0

1� (MH , ∗) 	 (MK , ∗) ��� �!����
� ����	 ���
����
��
� ����� H 	 K �������

���
����� ��� ��������� �� H ∩ K �������� �3���� ��
 �!����
 ����	 ���
�

����
��
 M ����� H ∪K �
� ��� M �������
��� 
 H �� MH 	 M �������
���


 K �� MK 0



��
������ �� ��	 ��
���	 ����� !�

2������
����0

1��� x, y ∈ H ∪ K � t > 0�

1� x, y ∈ H3 �� ����� M(x, y) = MH(x, y)�

1� x, y ∈ K3 �� ����� M(x, y) = MK(x, y)�

1� x ∈ H � K3 � y ∈ K � H, �� �����

M(x, y) = sup {MH(x, a) ∗ MK(a, y) : a ∈ H ∩ K}

������ :	� M �� 	�� �����
� �	��� ��-�� H ∪ K� 0��-������ ���� �� ���%

��	����� ������	���3 �� :	� ��� ����� ����������� ��� �+��������

1��� x, y, z ∈ H ∪ K

1� x, y, z,∈ H � x, y, z ∈ K3 �� ��	�-� �� �-+��� ������ ��� 
���� ��

���+������

;�< 1	�������� :	� x, y ∈ H � z ∈ K � H� �����
�� ���� ε > 03

������� ��
������ a ∈ H ∩ K ��� :	� M(y, z) − ε < MH(y, a) ∗ MK(a, z)�

0�� �����

M(x, y) ∗ (M(y, z) − ε) ≤ M(x, y) ∗ MH(y, a) ∗ M(a, z) =

= MH(x, y) ∗ MH(y, a) ∗ MK(a, z) ≤ MH(x, a) ∗ MK(a, z) ≤ M(x, z)

*��� ε �� ��-������� � ∗ �� 
�����	�3 ������� :	�

M(x, y) ∗ M(y, z) ≤ M(x, z).

�� 
��� x, y ∈ K � z ∈ H � K �� ��	�-� �� ������ ��������



!" �����
�� �� ��
���	� �����

;-< 1	�������� :	� x, z ∈ H � y ∈ K � H� �����
�� ���� ε > 03

������� ��
������ a, b ∈ H ∩ K ����� :	�

M(x, y) − ε < MH(x, a) ∗ MK(a, y)

�

M(y, z) − ε < MK(y, b) ∗ MH(b, z)

0�� �� �����

(M(x, y)− ε) ∗ (M(y, z)− ε) ≤ MH(x, a) ∗MK(a, y) ∗MK(y, b) ∗MH(b, z) ≤

≤ MH(x, a) ∗ MK(a, b) ∗ MH(b, z) = MH(x, a) ∗ MH(a, b) ∗ MH(b, z) ≤

≤ MH(x, z) = M(x, z).

*��� ε �� ��-������� � ∗ �� 
�����	�3 ������� :	�

M(x, y) ∗ M(y, z) ≤ M(x, z).

�� 
��� x, z ∈ K3 y ∈ H � K �� �������� �

������� ���+��� 1�
� H = {1, 3, 7} 	 ������������ �
 ������� MH �����

H × H �
�
 ���

MH(x, y) =
mcd(x, y)
mcm(x, y)

;����<

5�������

MH(1, 1) = MH(3, 3) = MH(7, 7) = 1

MH(1, 3) = MH(3, 1) =
1
3

MH(1, 7) = MH(7, 1) =
1
7

MH(3, 7) = MH(7, 3) =
1
21

5��� ��
�� ��� (H,MH , ·) �� �� �
����� ������� �	

� �
����������0



��
������ �� ��	 ��
���	 ����� !


1�
 K = {1, 4, 9} 	 ������������ �
 ������� MK ����� K × K �
�
 ���

�
 ���
���� �,0,%�0 5�������

MK(1, 1) = MK(4, 4) = MK(9, 9) = 1

MK(1, 4) = MK(4, 1) =
1
4

MK(1, 9) = MK(9, 1) =
1
9

MK(4, 9) = MK(9, 4) =
1
36

5��� ��
�� ��� (K,MK , ·) �� �� �
����� ������� �	

� �
���������� 	


����� �� ���
��� r ∈]0, 1[ �
� ��� 1−r < 1
4 ��������� ��� B(x, r, t) = {x} 

��� �� ��
� �
 ������
)
 
����
�
 
 MK �� �
 ������
)
 �������
0 7����� �����

��� ��� H∩K = {1} 	 ����
����� MH 	 MK ��������� �� H∩K0 5������� 

��� �
 ?���������� ,0%+0% ������� ��4��� �
 ������� �	

� �
����������

M ����� H ∪ K �� �
 ��
������ ����
�

M(3, 4) = M(4, 3) = MH(3, 1) · MK(1, 4) =
1
3
· 1
4

=
1
12

M(3, 9) = M(9, 3) = MH(3, 1) · MK(1, 9) =
1
3
· 1
9

=
1
27

M(7, 4) = M(4, 7) = MH(7, 1) · MK(1, 4) =
1
7
· 1
4

=
1
28

M(7, 9) = M(9, 7) = MH(7, 1) · MK(1, 9) =
1
7
· 1
9

=
1
63

	

M(x, y) = MH(x, y) �� x, y ∈ H 	 M(x, y) = MK(x, y) �� x, y ∈ K.

������� ���+��� 1�
 (MH , ·) �
 ������� �	

� �
���������� ����� H =

{1, 3, 7} ��� 5������ ,0%+0,0 1�
 K = N � {7} 	 ������������ ����� K �


������� �	

� �
���������� �
�
 ���

MK(n,m) =
min {n,m}
max {n,m}



!! �����
�� �� ��
���	� �����

7�) ������� ��� H ∩ K = {1, 3} 	 ����
����� MH 	 MK ��������� ��

H∩K0 5������� ��� �
 ?���������� ,0%+0% ������� ��4��� �
 ������� �	

�

�
���������� M ����� N �� �
 ��
������ ����
�

1� n �= 7 �C- ��4�����

M(n, 7) = max

{
min {n, 1}
max {n, 1} · MH(1, 7),

min {n, 3}
max {n, 3} · MH(3, 7)

}
=

= max

{
1
n
· 1
7
,
3
n
· 1
21

}
=

1
7n

M(2, 7) = max

{
min {2, 1}
max {2, 1} · MH(1, 7),

min {2, 3}
max {2, 3} · MH(3, 7)

}
=

= max

{
1
2
· 1
7
,
2
3
· 1
21

}
=

1
14

?�� �� �
��� M(n, 7) = M(7, n) =
1
7n

,∀n �= 7, 	

M(n,m) =
min {n,m}
max {n,m} , �� ��
������ ���� �
��0

5��
 �!����
 
�) ��4���
 �� ��
�
����� ��
 ������� �	

� ����� N = H∪K

��� �
 ?���������� ,0%+0%0

A�����
� ��� �� �������� ��� D����
��D �������� M  
 n ∈ X �� �������

n + 10

/
 ������
)
 τM �� �
 �������
0 5� ������ �
�
 �
�
 n ∈ X �� ���
���

0 < r < 1 − n
n+1  �� ����� ��� B(n, r, t) = {n}0



��
������ �� ��	 ��
���	 ����� !�

������� �������
 ����� 
��	�
�
 ��� �
�������


1��� M �N ��� �����
�� �	��� ��-�� X � Y �����
��+������� ?�
�������

:	� �� -���

��� f : (X,M) → (Y,N) �� ����� �������)� �� ���� 
��� x, y ∈ X

� t > 0

N(f(x), f(y), t) = M(x, y, t) ;����<

1� f �� 	�� �������)�3 �-+������� f−1 �� 	�� �������)� �� Y �� X�

N������� �� ��	�-� �� �� ���	����� �������
����

������	�	
� ���+�"� 1����

��� ��� (M, ∗) �� ��
 ������� �	

� �����

X 	 f ��
 ��	������ �� X �� Y 0 5������� ������� ��4��� �� Y ��
 �������

�	

� (N, ∗) ����
��� �
 ���
���� �,0,,�0

?������ ����� ��� �
 ������� �	

� M �
 ���� ��
������
�
 �� X 
 Y  

�� ����� (Y,N, ∗) �� �� �
����� ������� �	

�0

*��� 
��� �����
	���3 
����������� �� R+ ������	�
 ����� ����
�������

��� �2����� ���'��

M(x, y) =
min {x, y}
max {x, y}

� ��� f : R → R+ �� �	�
��� �(�����
���3 �� ��
��3 f(x) = ex3 ∀x ∈ R�

E� �����

N(x, y) =
min {ex, ey}
max {ex, ey}

�����
�� (N, ·) �� 	�� ����	�
 ����� ���
�	��
�	
 ��-�� R3 � �� �������)�

τN 
���
��� 
�� �� �������)� 	�	�� �� R�



!& �����
�� �� ��
���	� �����



�������� �

������	� ����� �������	
��

���� ������	

���

�� 
��
���� �� �%
��+�����
�� �� ����
��� �����
�� �	���3 �� �� �������

�� ������ � ���������3 7� ���� ���� ��� E� ��7�� �� 8�&9� �� �� 1�

���

��� �� ���� 
��)�	�� ���	������ ���	��� ����
��� ������+�� � ���� 
��
���� �


���
����������� �:	����� ����
��� �����
�� �	���3 :	� �������� ����
������3

�� ��� :	� �� ������� �� �	
������� �%
��+�������� 
���
��� 
�� �� ������� ��

�	
������� 
��+��������� >��-��� �� �� 	� ����
�� �����
� �	��� �� 
�����%

��-��3 :	� �� �� ����
����� �� �� ������� ����� �� �� 1�

��� ��� ���������

����������� ;E� ��
��� �����< �� 
��
���� �� �%
��+�����
�� :	� �� �	��� ���

�� 8�&9 � ���	�������� +���� ��� �������� ����������� ������+�� � ��
7� ��%

 ��
���� 5 
�����	�
��� ����� �� �� E� ��
��� ����� �� 
��
���� �� ����
��

�����
� �	��� ����
���� ;	� ����
�� �����
� �	��� (X,M, ∗) �� ����
���� ��

{B(x, r, t) : r ∈]0, 1[} �� 	�� -��� ��
�� �� x ∈ X3 ���� 
��� x ∈ X � t > 03

�� ��
��3 	� ������� �	��������� �� ��������< � 	�� ����� �� �2������ :	�

!$



�' ��
���	� ����� �������	
��

��� ��	����� ��
7� 
��
���� ;�2����� ����&<� �� ���	����� �.� ����+���� �� ��

>������ ����$3 �� 
	�� ��
� :	� 	� ����
�� �����
� �	��� (X,M, ∗) ����
����
�� 
���
������ ���:	� ���� �	
����� �%
��+������� �� 
��+�������� /�������%

��3 �� �� �2����� ������ +���� 	� ����
�� �����
� �	��� 
������� :	� �� ��

����
�����

�� �� ���	��� ����� �� �� 1�

��� ���3 
�����	���� 
�� �� ���	��� ���
��%

�� ��� E� ��7�� � +���� �� �� ��
��� �� �	
����� �� �%*�	
7� ;E� ��
���

������� ,�� �	
����� {xn}n∈N
�� �� ����
�� �����
� �	��� (X,M, ∗) �� ��%


� :	� �� �%*�	
7� �� ���� 
��� ε ∈]0, 1[ �(����� n0 ∈ N � t0 > 0 ����� :	�

M(xn, xm, t0) > 1−ε ���� ���� n,m ≥ n03 �� ��
��3 ĺım
n,m→∞M(xn, xm, t0) = 1

���� ���4� t0 > 0<3 ����	�� ����� �� 
��
���� �� �%
�������3 �� �� E� ��%


��� �����"� ;,� ����
�� �����
� �	��� (X,M, ∗) �� ����� �%
������� �� ����
�	
����� �%*�	
7� �� X �� �%
��+������� � ���4� �	��� �� X<� N-+�������

��� 
��
����� �� �%
��������	� � 
��������	� ��� 
��
����� �:	�+������� ��

�����
�� �	��� ����
�������� � �� �� 0������
��� �����
 +���� :	� �� �����
�

�	��� ���.���� Md �� �%
������� �� � ���� �� Md �� 
��������

�� �� 1�

��� ��� ���	������ 	� �	�+� 
��
���� ����
������ � ��� ����%


�
����� 
�����	�� ����� ����
��� �����
�� �	��� �� �� ������� �� ������ �

���������3 :	� ��� ��� ����
�
����� �%
�����	��3 � +���� ���	��� �����������

��-�� �����3 �� ����
��� 
	���� �� ����
�� �����
� �	��� �� ������� �� ����
�%

���� ,�� ����
�
��� ����� ����
��� �����
�� �	��� f : (X,M) −→ (Y,N) ��

�%
�����	� �� x0 ∈ X �� ����� ε ∈]0, 1[ � t > 0 �(���� δ ∈]0, 1[ ��� :	� ��

M(x0, x, t) > 1 − δ3 �����
�� N(f(x0), f(x), t) > 1 − ε� ;E� ��
��� �����<�

N-+�������3 �� f �� �%
�����	� �� x0 �����
�� f �� 
�����	� �� x03 ���� �� ��

�2����� ����" +���� :	� �� ��
)���
� �� ������ #� 0������
��� ����! �	�����

:	� ��� �	�
����� 
�����	�� �� ����� ��-�� 	� ����
�� �����
� �	��� ����%


���� ��� �%
�����	��3 �� ��
��3 �� 
�����	���� �:	�+��� � �� �%
�����	�����

*��� 
��� �����
	���3 ���� �	
��� 
	���� �� ����
�� ���
��� ���. ���+���� ��



��� �������	 �� ���	���� ��
����� ����� ��

�� �����
� �	��� ���.����3 �	�� ����� ��� ����
�������

�� 
�������� �� ���� 
��)�	�� 7� ���� �	-��
��� �� 8�!9 � 8��9�

��
� )��*�����
�� �� ����
��� �����
�� �	���

(�)�	�	
� ������ $-B' 1�
 (X,M, ∗) �� ���
��� �!����� ����	0 ��
 ��������

{xn}n∈N
�� X �� ��
�
 ����� ������
���� 
 x0 ∈ X �� ĺım

n→∞M(xn, x0, t0) = 1

�
�
 
�
<� t0 > 00

5� ���� �
�� ������� ��� {xn}n∈N
�� ��������
���� 
 x0 �
�
 t0 > 0 �

����������� ��� {xn}n∈N
�� ��������
����0

5����
���������� {xn}n∈N
�� ��������
���� �� �3���� x0 ∈ X 	 t0 > 0

�
� ��� {xn}n∈N
���� ������
������ �� B(x0, r, t0) �
�
 �
�
 r ∈]0, 1[ �� ���

�!����
 �� 
����
���
� �� B(x0,
1
n , t0) �
�
 �
�
 n ∈ N�0

N-+�������3 {xn}n∈N
�� 
��+������� � x0 �� � ���� �� {xn}n∈N

�� �%


��+������� � x0 ���� ���� t > 0� #�� ��� ���	������ ����������� �� ���

� 
���
�� �� 8�&9�

������	�	
� ������ $-B' 1�
 {xn}n∈N
��
 �������� �� �� ���
��� �!�����

����	 (X,M, ∗)0 5��������

�%� 1� ĺım
n→∞M(xn, x, t1) = 1 	 ĺım

n→∞M(xn, y, t2) = 1 �������� x = y0

�,� 1� ĺım
n→∞M(xn, x0, t0) = 1 �������� ĺım

k→∞
M(xnk

, x0, t0) = 1 �
�
 �
�


����������� {xnk
}k∈N

�� {xn}n∈N
0

0�� �� ��������� (1) �-������� �� ���	����� 
���������



�� ��
���	� ����� �������	
��

-����
�	� ������ 1� {xn}n∈N
�� ��������
���� 
 x0 	 {xn}n∈N

�� �������


���� �������� {xn}n∈N
������
� 
 x00

2������
����0

*��� {xn}n∈N
�� �%
��+������� � x03 �����
��

ĺım
n→∞M(xn, x0, t0) = 1, ���� ���4� t0 > 0.

5���.� {xn}n∈N

��+����3 �	��� �(���� x ∈ X ��� :	� ĺım

n→∞M(xn, x, t) = 1

���� 
��� t > 0� #	��� ��� ;�< �� �� 0������
��� ����� �� ����� :	� x0 = x �

��)

ĺım
n→∞M(xn, x0, t) = 1 ���� 
��� t > 0,

� ��� �� ����� {xn}n∈N

��+���� � x0� �

-����
�	� ����"� 1�
 (X,M, ∗) �� ���
��� �!����� ����	 �������
���0 1�

{xn}n∈N
�� ��
 �������� �� �
���	 �� X 	 {xn}n∈N

�� ��������
���� 


x0 ∈ X �������� {xn}n∈N
������
� 
 x00

2������
����0

1�� (X∗,M∗) �� 
�������
��� �� (X,M)� �����
�� �(���� x∗ ∈ X∗ ���

:	� {xn}n∈N

��+���� � x∗3 �� ��
�� ĺım

n→∞M∗(xn, x∗, t) = 1,∀t > 0�

1	�������� �7��� :	� ĺım
n→∞M(xn, x0, t0) = 1 ���� ���4� t0 > 0� ��%

���
�� ĺım
n→∞M∗(xn, x0, t0) = ĺım

n→∞M(xn, x0, t0) = 13 
�� �� 
	�� {xn}n∈N
��

M∗%�%
��+������� � x03 � ��� �� 
�������� �������� x∗ = x03 �� ��
��3 {xn}n∈N


��+���� � x0� �

������ 	� �2����� �� 	�� �	
����� �%
��+������� :	� �� �� 
��+��������



��� �������	 �� ���	���� ��
����� ����� ��

������� ������ $-B' 1�
 {xn} ⊂]0, 1[ ��
 �������� �������
����� ���������

	 ������
���� 
 % �������� �� �
 ������
)
 ���
� �� R 	 ��
 X = {xn} ∪ {1}0
2�4����� �
 ������� M ����� X2 × R+ �
�
 ���

M(x, x, t) = 1 �
�
 �
�
 x ∈ X t > 0 

M(xn, xm, t) = min {xn, xm} �
�
 ���� m,n ∈ N t > 0 	

M(xn, 1, t) = M(1, xn, t) = min {xn, t} �
�
 ���� n ∈ N t > 00

5������� (M, ∗) �� ��
 �!����
 ����	 ����� X ����� a ∗ b = min {a, b}0
/
 �������� {xn}n∈N

�� �� ������
���� 	
 ��� ĺım
n→∞M(xn, 1, 1

2) = 1
2 0 1��

���
�
� �� ��������
���� 
 % 	
 ��� ĺım
n→∞M(xn, 1, 1) = 1

*��
 ���� � 5� �� ������� 
������� {1} �� 
������ �� τM 	
 ��� B(1, 1
2 , 1

2) =

{1}0 ?�� ���� �
�� �
�
 r ∈]0, 1[ ������� ��� B(1, r, 1) = {xm, xm+1, . . .} ∪
{1} ����� xm �� �� ������ �������� �� {xn}n∈N

�
� ��� 0 < 1 − r < xm0

?�� �� �
��� �
 �
����
 �� ���
� 
�����
� {B(1, r, 1) : r ∈]0, 1[} �� �� ��
 �
��

���
� �� %0 5��� �����
 ������
 ��
������ ��4������0

(�)�	�	
� ������ �� ���
��� �!����� ����	 (X,M, ∗) ������� ��� �� �����

���
� �� ����������� M �� �������
�� �� �
�
 ��
������ t > 0 �
 �
����


{B(x, r, t) : r ∈]0, 1[} �� ��
 �
�� ���
� �� x ∈ X �
�
 �
�
 x ∈ X �� ����� 

�� ������
 ����
����
� �� �������� �� x0

*��� �
�-���� �� +��3 �� �����
� �	��� ��� �2����� ����
 �� �� ����
�����

5 
�����	�
��� +���� � +�� ���	��� �2������ �� �����
�� �	��� ����
�������

������� ����#�

�
� 9��
 �!����
 ����	 ���
����
��
 �� ����
����� �������
�0

��� /
 �!����
 ����	 ������
� �� �������
�0



�" ��
���	� ����� �������	
��

��� /
 �!����
 ����	

M(x, y, t) = e−
d(x,y)

t ,

����� d �� ��
 �!����
 ����� X $%&' �� �������
�0

��� /
 �!����
 ����	

M(x, y, t) =
min {x, y} + t

max {x, y} + t
,

�� ��
 �!����
 ����	 ����� R+ $..' �
 ��
� �� �������
�0

2������
����0

;�< �� �-+���

;-< 1�� (X, d) 	� ����
�� �����
�� �����
�� �� ����� :	� BMd
(x0, δ, t) =

Br(x0) �� � ���� �� 1−δ
t·δ = 1

r �

�� ���
��3 ���� x0 ∈ X3 t > 03 δ ∈]0, 1[ � r > 0 :	� +��� 
�� �� ���������

1�� x ∈ BMd
(x0, δ, t)� �����
�� Md(xo, x, t) > 1−δ3 �� ��
��3 t

t+d(x0,x) > 1−δ

� ��� ����� d(x0, x) < t · δ
1−δ = r3 �� ��
��3 x ∈ Br(xo)�

5�.��������� �� ��	�-� �� ��
�	���� 
���������

57��� �-���+�� :	� �� ����
��� 1−δ
t·δ = 1

r ���-��� �� �	��� ��
��-�� δ = r
t+r �

/��������� +����� :	� �� ������� {BMd
(x0, δ, t) : δ ∈]0, 1[} �� 	� �������

�	��������� �� �������� �� xo ∈ X3 ���� 
	��:	��� t > 0�

�� ���
��3 �� Br(xo) �� 	�� -��� 
������� �� x03 � �� t > 03 �����
��

��������� δ = r
t+r 3 ������� :	� Bd(x0, δ, t) = Br(x0) ���4� �� � ���
���

��������3 � ��) Md �� ����
�����



��� �������	 �� ���	���� ��
����� ����� �


;
< 0��� +�� :	� M �� ����
����3 -���� ������ δ = 1 − 1

e
r
t
� �� ����� :	�

B(x0, δ, t) = Br(x0)�

*�� 	� ������������ ������� �� 
��� ;-< �� ��	�-� :	� M �� ����
�����

;�< �� �.
�� +��� 
�� :	� ����� t > 0 � δ ∈]0, 1[3 ��� -���� �-������ �� τM

��� �� �� ����� B(x, δ, t) =](x + t) · (1 − δ) − t, x+t
1−δ − t[�

0��� 
	��:	��� t > 0 �� ����� :	� �� ��.����� �� ��� �����+���� ����������

������� � 
��� 
	���� δ ������ � 
���3 ���� B(x, δ, t) 2��.� �� ���	
� ��

�	��� {x}�

5�) �	��3 τM �� �� �������)� 	�	�� �� R ����������� � X3 � ��� �� ������%

������ �������� {B(x, r, t) : r ∈]0, 1[} �� 	� ������� �	��������� �� ��������

�� x ∈ X3 ���� 
	��:	��� t > 03 � ��� ����� M �� ����
����� �

,�����
 ����!� �� ���
��� �!����� ����	 (X,M, ∗) �� �������
� �� 	 ���� ��

���
 �������� ��������
���� �� ������
����0

2������
����0

1	�������� :	� M �� ����
���� � :	� {xn}n∈N
�� �%
��+������� � x03

���� t0 > 0�

1�� ε ∈]0, 1[ � t > 0� *��� M �� ����
����3 �����
��
{
B(x0,

1
n , t0) : n ∈ N

}
�� 	�� -��� ��
�� �� x0� 0�� �� �����3 ������� ��
������ m ∈ N ��� :	�

B(x0,
1
m , t0) ⊂ B(x0, ε, t)�

*��� ĺım
n→∞M(xn, x0, t0) = 13 ������� ��
������ δ ∈]0, 1[3 
�� δ < 1

m 3

� n1 ∈ N ��� :	� xn ∈ B(x0, δ, t0) ���� ���� n ≥ n13 � ��) xn ∈ B(x0, ε, t)

���� ���� n ≥ n1� 0�� �� �����3 M(xn, x0, t) > 1− ε ���� ���� n ≥ n13 � ��)



�! ��
���	� ����� �������	
��

ĺım
n→∞M(xn, x0, t) = 1� �� ������������ �������� �� +.���� ���� ���� t > 03


�� �� 
	�� {xn}n∈N

��+���� � x0�

0��� �� ��
)���
�3 �	�������� :	� M �� �� ����
����� ����� � 
�����	��

	�� �	
����� �%
��+������� :	� �� ��� 
��+��������

1� M �� �� ����
����3 ������� ��
������ x0 ∈ X � t0 > 0 ��� :	�{
B(x0,

1
n , t0) : n ∈ N

}
�� �� 	�� -��� ��
�� �� x0� �����
�� ������� ��%


������ t > 0 � r ∈]0, 1[ ��� :	� B(x0,
1
n , t0) � B(x0, r, t) ���� ���� n ∈ N�

57���3 ��� ���	

���3 
�����	���� �� ���	����� �	
������

0��� 
��� n ∈ N3 ������� xn ∈ B(x0,
1
n , t0) � B(x0, r, t)�

57���3 ���� ε ∈]0, 1[3 �������� n1 ∈ N 
�� 1
n1

< ε� 0�� �� �����3 ����

m ≥ n13 ������� :	�

M(xm, x0, t0) > 1 − 1
m

> 1 − 1
n1

> 1 − ε

� 
��� ε �� ��-�������3 ĺım
n→∞M(xn, x0, t0) = 1 � ��) {xn}n∈N

�� �%
��+�������

� x0�

0�� ���� ����3 ��� 
�����	

���3 xn ∈ X � B(x0, r, t) ���� ���� n ∈ N3

� ��) {xn}n∈N
�� 
��+���� � x03 � ��� �� *�������� �����3 {xn}n∈N

�� ��


��+�������� �

#�� ���	������ �2������ ��	����� �� 4����� ��������

������� �����+� 1�
 ϕ : R+ −→]0, 1[ ��
 ������� �������
 	 ���������0

2�4����� �
 ������� M ����� X2 × R+ ���

M(x, y, t) =


1, �� x = y

ϕ(t), �� x �= y



��� �������	 �� ���	���� ��
����� ����� ��

1�
<� �
 ?���������� ,0&0% (M, ·) �� ��
 �!����
 ����	 ����� X0

7���
 �
�
 �
�
 x ∈ X 	 t > 0 ������� ��� B(x, 1−ϕ(t), t) = {x} 	 
�)

M �� �������
�0 7����� τM �� �
 ������
)
 �������
 	 �������� ���
�����

�
� ���������� �����
���� ��� ������
����� 	 ��� �� �
��� ��� �
� <���
�

���������� ��������
����� �� X0

5 
�����	�
��� ����� 	� �2����� �� ����
�� �����
� �	��� 
������� :	�

�� �� ����
�����

������� ������� 1�
 X = R+ 	 ��
 ϕ : R+ −→]0, 1] ��
 ������� �
�
 ���

ϕ(t) = t �� t ≤ 1 	 ϕ(t) = 1 �� ��
������ ���� �
��0 2�4����� �
 ������� M

����� X2 × R+ ���

M(x, y, t) =


1, �� x = y

min{x,y}
max{x,y} · ϕ(t), �� x �= y

1�
<� �
 ?���������� ,0B0, �� ����� ��� (M, ·) �� ��
 �!����
 ����	 ����� X0

���� M(x, y, t) < t ������� ��� t ∈]0, 1[ 	 x �= y �� ����� ��� �
�

<���
� ���������� �� �
���	 �� X ��� �
� ���������� �����
���� 	 
�) X ��

��������0

5��
 �!����
 ����	 �� �� �������
�0 5� ������ ���������� ��� B(x, 1
2 , 1

2) =

{x} �
�
 �
�
 x ∈ X 	 
�) τM �� �
 ������
)
 �������
0 7���
 �� x =

1 	 t = 1 ������� ��� B(1, r, 1) =]1 − r, 1
1−r [ �
�
 ���� r ∈]0, 1[ 	 
�)

{B(1, r, 1) : r ∈]0, 1[} �� �� ��
 �
�� ���
� �� x = 1 	
 ��� {1} �� 
�����

��0

7���
 ������������ �
 �������� {xn}n∈N
�� X �
�
 ��� xn = 1 −

1
n  n ∈ N0 9������ M(xn, 1, 1) = 1 − 1

n �
�
 ���� n ∈ N ��� �
���
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���	� ����� �������	
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ĺım
n→∞M(xn, 1, 1) = 1 	 {xn}n∈N

�� ��������
���� 
� ����� % ���� �� ��

������
����0

�� �� ���	����� �2�����3 (X,M) �� 	� ����
�� �����
� �	��� :	� �� ��

����
���� �� 
�������-���

������� ������� 1�
 X =]0, 1] A = X ∩ Q B = X � A0 2�4����� �


������� M ����� X2 × R+ ���

M(x, y, t) =




min{x,y}
max{x,y} , �� x, y ∈ A � x, y ∈ B, t > 0,
min{x,y}
max{x,y} , �� x ∈ A, y ∈ B � x ∈ B, y ∈ A, t ≥ 1
min{x,y}
max{x,y} · t, �� ���� �
��

#�
��� ��� (M, ·) �� ��
 �!����
 ����	 ����� X0

?
�
 ���� �
��� 
 ����
� <���
����� �
 ����
�
��
� ���
�
��
� 	 �� �
�

����� ���� �
�
 �� �
�� x ∈ A z ∈ B �� x ∈ B z ∈ A� ��� t + s < 10

1� ����� ����

M(x, z, t + s) =
min {x, z}
max {x, z} · (t + s) ≥ min {x, y}

max {x, y} · min {y, z}
max {y, z} · (t + s) ≥

≥ min {x, y}
max {x, y} · t · min {y, z}

max {y, z} · s = M(x, y, t) · M(y, z, s).

/
� ����� ����
������ ��� ����
�0

7���
 ������� ��� M �� �� �������
�0 ?
�
 ���� ������� ���

{B(1, r, 1) : r ∈]0, 1[}

�� �� ��
 �
�� ���
� �� x = 10



��� �������	 �� ���	���� ��
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5� ������ B(1, r, 1) =]1 − r, 1] �
�
 ���� r ∈]0, 1[0 7���
 ���� 1 ∈ A

������� ���
{
y ∈ B : M(1, y, 1

2) > 1 − 1
2

}
= φ 
�) ��� B(1, 1

2 , 1
2) =]12 , 1]∩Q

	 ��
�
����� B(1, r, 1) � B(1, 1
2 , 1

2) �
�
 ���� r ∈]0, 1[ 	 �������� M �� ��

�������
�0

7���
 �� ����� ����
� ��� �
�
 n ≥ 2 

B(x,
1
n

,
1
n

) =


]x − x

n , nx
n−1 [∩A, �� x ∈ A,

]x − x
n , nx

n−1 [∩B, �� x ∈ B,

	 ��
�
����� τM �� �� �
 ������
)
 �������
 
����� �� ��� 4�
 ��� �
 �����

��
)
 ���
� �� R ���
���
 
 X0

6��
������ ��
 {xn}n∈N
��
 �������� ��������� ��������
 �� B ��� ����

���
� 
 % ��� �
 ������
)
 ���
� �� R ���
���
 
 X0 7�) �
�
 �
�
 r ∈]0, 1[

�3���� n1 ∈ N �
� ��� xn ∈]1−r, 1[ �
�
 ���� n ≥ n1 	 ��� �
 ��4������ �� M

������� ��� M(xn, 1, 1) > 1−r �
�
 ���� n ≥ n1 	 
�) ĺım
n→∞M(xn, 1, 1) = 1 

	
 ��� r �� 
�����
���0 5������� {xn}n∈N
�� ��������
���� 
 %0 7����� 

{xn}n∈N
�� ��
 �������� �� �
���	0 5� ��� ����

M(xn, xm, t) =
min {xn, xm}
max {xn, xm} �
�
 ���� t > 0,
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�������
��� �� ��%

������ �� ���� 
��)�	�� ��
�������� 	�� 
���� �� �����
�� �	��� ����
��������


�������-��� :	� ��
�	�� � �� 
���� �� ��� 	���������
�� �	��� ����
���������

�� �� ������� ����� ��� 
��)�	��3 �� ����� � ���	������ ���	��� ����
���

�� ��� �����
�� �	��� �	������ �� �����
	���3 �� ���	��� �� 
��������	� �� ����


���� �� �����
�� �	���� 0��� ���� 
��������� �� ������ ��� �����
�� �	���

�	����� �� �� E� ��
��� "����� ,�� �����
� �	��� M �� ��
� �	���� �� ����


��� x, y, z ∈ X3 t > 0 
	���� :	�

M(x, z, t) ≥ M(x, y, t) ∗ M(y, z, t) (GV 4′).

&$



$' ��
���	� ����� ����
��

5 
�����	�
���3 �� �2����� "���� ��� 7�
� +�� :	� �� 
����
��� �� �����
�

�	���� �� �	��� ���������� �� �(���� (GV 4) �� �� �� ��
��� �� �����
�

�	���3 ���� �� ����-�� �� ��� 	�� �����
� �	��� �	���� ������������ (GV 4)

��� (GV 4′) � �(������� ����.� �� (GV 5) :	� �� �	�
��� Mxy ��� ����.� ��


�����	�3 
��
����� �����
�� �� t3 ���� 
��� x, y ∈ X�

1� (X,M, ∗) �� 	� ����
�� �����
� �	��� �� ����
�������3 �� ����� �� ��%

����� �� �	�
����� {Mt : t ∈ R+}3 ����� ���� 
��� t ∈ R+3 Mt : X2 →]0, 1]

+���� ���� ��� Mt(x, y) = M(x, y, t)3 :	� ���������� ������� �� �����
��

�	��� ����
�������� ���
����� � M � 5�)3 �� �� 0������
��� "���
 ;�< �������

��������� :	� (M, ∗) �� �	���� �� � ���� �� (Mt, ∗) �� 	�� �����
� �	��� ����%


������� ��-�� X ���� 
��� t ∈ R+3 � �� ;��<3 :	� �� (M, ∗) �� �	���� �����
��
�� �������)� ���
���� � M +���� ���� ��� τM =

∨ {τMt : t ∈ R+}� 5���.�3
�� 0������
��� "���� �	����� 
	.��� 	�� ������� {(Mt, ∗) : t > 0} �� �����%


�� �	��� ����
�������� ��-�� X �� ��� 	�� �����
� �	��� (M, ∗) ��-�� X

�������� �� ����	�� M(x, y, t) = Mt(x, y) ���� 
��� x, y,∈ X3 t > 03 � ����

�
	��� �� � ���� �� �� ������� {Mt : t ∈ R+} �� 
��
����� ;��� Mt ≤ Ms �� t < s<

� �� �	�
��� Mxy : R+ →]0, 1] ���� ��� Mxy(t) = Mt(x, y) �� 	�� �	�
���


�����	� ��-�� R+3 ���� 
��� x, y ∈ X� /���������3 �� �� *�������� "����'

������� +�� :	� 	� ����
�� �����
� �	��� �	���� (X,M, ∗) �� 
������� ��

� ���� �� (X,Mt, ∗) �� 
������� ���� ���� t ∈ R+3 ����	�� �� :	� �� ��

0������
��� "���$3 7������ 
���
�������� ��� �	
������� :	� ��� Mt%*�	
7��

�� �� ���	��� ����� ���	������ �� 
�������
��� �� �����
�� �	��� �	������

*��������� �� ������ ;E� ��
��� "�����< 	�� �%����� 
�����	� ∗ )������


��� �:	���� :	� +��� 
� :	� a ∗ b �= 0 ������� :	� a, b �= 0� N-+������� ���

�%������ 
�����	�� �)���� � ����	
�� 	�	�� ��� )�������� >��� ��������� ��

>������ "����"3 ;:	� ��
� :	� �� 	� ����
�� �����
� �	��� �	���� (X,M, ∗)

�� ∗ )������3 �� {xn}n∈N

� {yn}n∈N
��� �	
������� �� *�	
7� �� X � t > 03

�����
�� �� �	
����� {M(xn, yn, t)}n∈N

��+���� �� ]0, 1]< �-������� 
���



!�	 �
	�� �� ���	���� ��
����� ����� ����
�
	"
�� $�


����
	��
�� �� *�������� "����
 ����� +���� :	� �� (M, ∗) �� 	�� �����
�

�	��� ����
������� ��-�� X � ∗ �� )������ �����
�� (X,M, ∗) �� 
�������-���
*��� 
����
	��
�� ;*�������� "����!<3 ��� 	���������
�� �	��� ����
��������

��� 
�������-���� �.� ��������3 �� >������ "����& ���	����� :	� �� (X,M, ∗)
�� 	� ����
�� �����
� �	��� �	���� 
�������-��3 �����
�� (X,Mt, ∗) �� 
��%
�����-�� ���� ���� t > 03 � �� �� �2����� "����$ +���� :	� �� ��
)���
� ��

����� � ����.� :	� �� *�������� "����! �� �� �	��� �(������ � 	���������
��

�	���� *��� ���	�����  ��� ������� �� >������ "����'3 :	� � ��� :	� 	�

����
�� �����
� �	��� �	���� (X,M, ∗) ����� ∗ �� )������3 �� �������)� ���%


���� � M 3 τM 3 �� �� �	����� �� 	�� ������� ��
��
����� �� �������)�� �	���

�������-��� ����
�������� ��� 
	���� ��� 
�������-����

 �
� +�� 
���� �� ����
��� �����
�� �	��� 
������

��,���

������ �������
 ����� ������
� ����������


1� (M,∧) �� 	�� �����
� �	��� ��-�� X �����
�� �� �����	����� ������	���

(GV 4) �� 
��+����� ���� ���� x, y, z ∈ X � t, s > 0 ��

M(x, z, t + s) ≥ M(x, y, t) ∧ M(y, z, s).

57���3 �� �(������ ���-��� :	�

M(x, z, t) ≥ M(x, y, t) ∧ M(y, z, t)

�-������� �� ��
��� �� 	���������
� �	��� ;� �����
� �	��� �� ��:	��������

8"$9<3 �� :	� �	����� �� ���	����� �� ��
����
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���	� ����� ����
��

(�)�	�	
� "����� 1�
 (X,M, ∗) �� ���
��� �!����� ����	0 /
 �!����
 ����	

M �� ���� ������ �� �
�
 �
�
 x, y, z ∈ X 	 t > 0 ������ ���

M(x, z, t) ≥ M(x, y, t) ∗ M(y, z, t) (GV 4′)

N-���+�� :	� ���� �(���� (GV 4′) �� �	��� ���������� �� �(���� (GV 4)3

�� �� �� ��
��� �� �����
� �	���3 
	���� ����������� �-����� 	�� �����
�

�	���3 �� :	� �� ���� 
��� M ����)� �� ��� 	�� �����
� �	��� ��-�� X 
���

������� +�� �� �� ���	����� �2������

������� "����� ������������ �
 �!����
 ���
� | · | ����� R0 2�4����� �


������� M : R × R × R+ →]0, 1] ���

M(x, y, t) =
1
t

1
t + |x − y|

5������� M ������ (GV 1) − (GV 3) 	 (GV 5) ���� �� �
����
�� (GV 4) �
�


�� �������� ���
�0 5� ������ ��
� x = 1 y = 2 z = 3 t = s = 10 5�������

�������

M(x, z, t+s) =
1
2

1
2 + |3 − 1| <

1
1 + |2 − 1| ·

1
1 + |3 − 2| = M(x, y, t)·M(y, z, s)

A�����
� ��� �
 ������� Mxy �� �������
����� ����������� �
�
 ���� t > 00

1�� ���
�
� M �
����
�� (GV 4′) �
�
 �� �������� ���
�0 5� ������ 

M(x, z, t) =
1
t

1
t + |z − x| ≥

1
t

1
t + |y − x| + |z − y| ≥

≥
1
t

1
t + |y − x| ·

1
t

1
t + |z − y| = M(x, y, t) · M(y, z, t)

�:	�+�����������3 �� ����-�� �� ��� 	�� �����
� �	��� �	���� �������%

����� (GV 4) ��� (GV 4′) �� �(������ ����.� �� (GV 5) :	� �� �	�
��� Mxy



!�	 �
	�� �� ���	���� ��
����� ����� ����
�
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��� 	�� �	�
��� 
�����	� � 
��
����� ��-�� t3 ���� 
��� x, y ∈ X� �� ���
��3

�� ��� 
��� ������� :	�

M(x, z, t + s) ≥ M(x, y, t + s) ∗ M(y, z, t + s) ≥ M(x, y, t) ∗ M(y, z, s).

������� "�����

�
� /
� �!����
� ����	 ���
����
��
� ��� �������0

��� /
� ����
�!����
� ����	 ��� �������0

��� /
 �!����
 ����	 (M, ·) ����� R+ ��4���
 ���

M(x, y, t) =
min {x, y} + ϕ(t)
max {x, y} + ϕ(t)

,

����� ϕ :]0,+∞[→]0,+∞[ �� ��
 
����
���� ��������� 	 �������
 �� ������0

/�� ��� ��
������� �������� ��� ;�����
�� �	��� �	����� �� ����� ��� ��%

���
�� �	��� ����
��������<�

��� 1�
 (N, ·) ��
 �!����
 ����	 ���
����
��
 ����� X0 2�4����� �
 ����

���� M ����� X2 × R+ ���

M(x, y, t) =
t

t + 1 − N(x, y)

5������� (M, ·) �� ��
 �!����
 ����	 ������ ����� X0

��� 1�
 (N, ·) ��
 �!����
 ����	 ���
����
��
 ����� X0 2�4����� �
 ����

���� M ����� X2 × R+ ���

M(x, y, t) =
t + N(x, y)

t + 1

5������� (M, ·) �� ��
 �!����
 ����	 ������ ����� X0



$" ��
���	� ����� ����
��

5� ��� ��
������� �������� d �� ��
 �!����
 ����� X0

��� 1�
 ϕ : R+ →]0, 1] ��
 ������� �������
 ���������0 2�4����� �


������� M ����� X2 × R+ ���

M(x, y, t) =
ϕ(t)

ϕ(t) + d(x, y)

5������� (M, ·) �� ������0 5� �
������
� �
 �!����
 ����	 ������
� Md ��

������ �
�
 �� �������� ���
�0

�
� /
 ������� M ����� X2 × R+ �
�
 ���

M(x, y, t) = e−
d(x,y)

t

�� ������ �
�
 �� �������� ���
�0

��� /
 �!����
 ����	 ������
� Md �� ��
 ����
�!����
 ����	 ��� 	 ���� ��

�� ������ �
�
 �
 ������
 �)����� �� 	 ���� �� d �� ��
 ����
�!����
 $&>'0

?�� �����
������ 

��� 1� d �� ��
 �!����
 ��� �� �� ����
�!����
 �������� (Md,∧) �� ��


�!����
 ����	 ��������� ����� X0

2������
����0

;
< ������ :	� ���� ���� x, y, z ∈ X3 t > 03 �� ����� :	�

M(x, z, t) ≥ M(x, y, t) ∗ M(y, z, t).

1	�������� :	� x < z� E������	���� ���� 
����H
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*��� �� 1	�������� :	� x ≤ y ≤ z� 1� ����� �����
�� :	�

M(x, z, t) =
x + ϕ(t)
z + ϕ(t)

=
x + ϕ(t)
y + ϕ(t)

· y + ϕ(t)
z + ϕ(t)

= M(x, y, t) ∗ M(y, z, t).

*��� �� 1	�������� :	� y ≤ x < z� 1� ����� �����
�� :	�

M(x, z, t) =
x + ϕ(t)
z + ϕ(t)

≥ y + ϕ(t)
z + ϕ(t)

≥

≥ x + ϕ(t)
y + ϕ(t)

· y + ϕ(t)
z + ϕ(t)

= M(x, y, t) ∗ M(y, z, t).

*��� �� 1	�������� :	� z ≤ y� 1� ����� �����
�� :	�

M(x, z, t) =
x + ϕ(t)
z + ϕ(t)

≥ x + ϕ(t)
y + ϕ(t)

≥

≥ x + ϕ(t)
y + ϕ(t)

· z + ϕ(t)
y + ϕ(t)

= M(x, y, t) ∗ M(y, z, t).

5�.��������� �� ��	�-� �� z < x�

;�< 0�� �� 0������
��� ��&�
 ��-���� :	� (M, ·) �� 	�� �����
� �	���

��-�� X� 1��� x, y, z ∈ X � t > 0� ������ :	�

M(x, z, t) ≥ M(x, y, t) · M(y, z, t).

0��-�� �� �����	����� �������� �� �:	�+������ � ���-��

t

t + 1 − N(x, z)
≥ t

t + 1 − N(x, y)
· t

t + 1 − N(y, z)

:	� �:	�+��� �

((t + 1) − N(x, y)) · ((t + 1) − N(y, z)) ≥ t · (t + 1 − N(x, z))

:	� �:	�+��� �	
���+������ �

1+t·(1+N(x, z))−tN(y, z)−tN(x, y)+N(x, y)·N(y, z)−N(y, z)−N(x, y) ≥ 0



$! ��
���	� ����� ����
��

� ���-��� �

t[(1+N(x, z)−N(y, z)−N(x, y)]+1+N(x, y)·N(y, z)−N(y, z)−N(x, y) ≥ 0

�� 
	�� �� 
����� �� :	�

[1 + N(x, z) − N(y, z) − N(x, y)] > 0

�

1 + N(x, y) ·N(y, z)−N(y, z) −N(x, y) = (1 −N(x, y)) · (1 −N(y, z)) > 0.

#	��� M �� 	�� �����
� �	��� �	�����

;�< 0�� �� 0������
��� ��&�� ��-���� :	� (M, ·) �� 	�� �����
� �	��� ��-��
X� 1��� x, y, z ∈ X � t > 0� ������ :	�

M(x, z, t) ≥ M(x, y, t) · M(y, z, t).

0��-�� �� �����	����� �������� �� �:	�+������ � ���-��

t + N(x, z)
t + 1

≥ t + N(x, y)
t + 1

· t + N(y, z)
t + 1

:	� �:	�+��� �

(t + 1) · (t + N(x, z)) ≥ (t + N(x, y)) · (t + N(y, z))

;��-����� :	� N(x, z) ≥ N(x, y) · N(y, z)< :	� �:	�+��� �	
���+������ �

t2 + tN(x, z) + t + N(x, z) ≥ t2 + tN(y, z) + tN(x, y) + N(x, y)N(y, z)

t(N(x, z) + 1) ≥ t(N(y, z) + N(x, y))

N(x, z) + 1 ≥ N(y, z) + N(x, y)
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� ���� 4����� �� 
	����3 �	��

N(x, z) + 1 − N(y, z) − N(x, y) ≥

≥ N(x, y) ·N(y, z) + 1−N(y, z)−N(x, y) = (1−N(x, y))(1−N(y, z)) > 0.

1	������� x �= y � y �= z� #�� ���.� 
���� ��� �-+����

#	��� M �� 	�� �����
� �	��� �	�����

;�< 1��� x, y, z ∈ X3 t > 0� 0��� +��

M(x, z, t) ≥ M(x, y, t) · M(y, z, t),

7���� �� ���-�� :	�

ϕ(t)
ϕ(t) + d(x, z)

≥ ϕ(t)
ϕ(t) + d(x, y)

· ϕ(t)
ϕ(t) + d(y, z)

:	� �� �� ����� :	� ���-�� :	�

(ϕ(t) + d(x, y)) · (ϕ(t) + d(y, x)) ≥ (ϕ(t) + d(x, z)) · ϕ(t).

0	�� -���

(ϕ(t) + d(x, y)) · (ϕ(t) + d(y, x)) =

= ϕ(t)2 + ϕ(t) · d(x, y) + ϕ(t) · d(y, z) + d(x, y) · d(y, z) =

= ϕ(t)2 + ϕ(t) · (d(x, y) + d(y, z)) + d(x, y) · d(y, z) ≥

≥ ϕ(t)2 + ϕ(t) · d(x, z) + d(x, y) · d(y, z) ≥

≥ ϕ(t)2 + ϕ(t) · d(x, z) = ϕ(t)(ϕ(t) + d(x, z)).

;�< 1��� x, y, z ∈ X3 t > 0� 0��� +��

M(x, z, t) ≥ M(x, y, t) · M(y, z, t),
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������� :	� ���-�� :	�

e−
d(x,z)

t ≥ e−
d(x,y)

t · e− d(y,z)
t

*��� d �� 	�� �����
�3 �� ����� :	� d(x, z) ≤ d(x, y) + d(y, z) ;�����	�����

������	���< �� :	� �� �:	�+������ �

−d(x, z)
t

≥ −d(x, y)
t

− d(y, z)
t

0�� �����

e−
d(x,z)

t ≥ e−
d(x,y)

t − d(y,z)
t

�� 
	�� �� �� ����� :	�

e−
d(x,z)

t ≥ e−
d(x,y)

t · e− d(y,z)
t

�

���&���
 "���"� 5������
� ��
 �!����
 ����	 ��������� (M, ∗) ����� ∗ ��

�� �������� ���
� � �
 ������
 �� /�=
�������0

1�� (M, ∗) 	�� �����
� �	��� �� ����
������� ��-�� X� E� ����� �� ��%

����� �� �	�
����� {Mt : t ∈ R+} ����� ���� 
��� t ∈ R+3 Mt : X2 →]0, 1]

+���� ���� ��� Mt(x, y) = M(x, y, t)� *�� ���� ����
���3 ������� �� ���	�����

�������
����

������	�	
� "����� 1�
 (M, ∗) ��
 �!����
 ����	 ����� X �� ���
����
��
0

5��������

��� (M, ∗) �� ������ �� 	 ���� �� (Mt, ∗) �� ��
 �!����
 ����	 ���
����
��


����� X �
�
 �
�
 t ∈ R+0

���� 1� (M, ∗) �� ������ �������� τM =
∨ {τMt : t ∈ R+}



!�	 �
	�� �� ���	���� ��
����� ����� ����
�
	"
�� $$

2������
����0

;�< 1� (M, ∗) �� �	���� �����
�� �� �-+�� :	� (Mt, ∗) �� 	�� �����
� �	���
����
������� ��-�� X ���� 
��� t ∈ R+�

������ �� ��
)���
�� 1��� x, y, z ∈ X � t > 0� �����
��

M(x, z, t) = Mt(x, z) ≥ Mt(x, y) ∗ Mt(y, z) = M(x, y, t) ∗ M(y, z, t)

;��< �� �+������ �	�� ���� 
��� x ∈ X3 r ∈]0, 1[ � t > 03 ��� -����

BM (x, r, t) 
���
���� 
�� ��� -���� BMt(x, r)� �

1� M �� 	�� �����
� �	��� �	���� ������� :	� {Mt : t ∈ R+} �� �� �������
�� �����
�� �	��� ����
�������� ���
����� � M �

������� "��� �

�
� 1�
 d ��
 �!����
 ����� X0 5������� ((Md)t,∧) �� ��
 �!����
 ����	

���
����
��
 ����� X �
�
 �
�
 t > 0 �� 	 ���� �� (Md,∧) �� ������ �� 	 ����

�� d �� ��
 ����
�!����
 ����� X0

��� ������������ �
 �!����
 ����	 ������ M ����� R+ ��� 
�
��
�� ���

��� 5������ &0,0-0 5������� 

Mt(x, y) =
min {x, y} + t

max {x, y} + t

�� ��
 �!����
 ����	 ���
����
��
 �
�
 �
�
 t > 0 	 �� ����� ����4�
� ���

τMt = τM �
�
 �
�
 t > 00

��� ������������ �
 ������� M ����� R+ × R+ × R+ �
�
 ���

M(x, y, t) =


1, �� x = y

min{x,y}
max{x,y} · ϕ(t), �� x �= y



�'' ��
���	� ����� ����
��

�����

ϕ(t) =


t, �� 0 < t ≤ 1

1, �� t > 1

1�
<� �
 ?���������� ,0B0, (M, ·) �� ��
 �!����
 ����	 ����� R+0

#�
��� ��� M �� ������ �� ����� ��� M(x, z, t) ≥ M(x, y, t) ·M(y, z, t)0

1�
� x, y, x ∈ R+ �C+0 1�������� x, y, z ��������� ��� �� �����
��� ��

�����
��0 5������� �� ����� ����

M(x, z, t) =
min {x, z}
max {x, z} · ϕ(t) ≥ min {x, y}

max {x, y} · min {y, z}
max {y, z} · ϕ(t) ≥

≥ min {x, y}
max {x, y} · ϕ(t) · min {y, z}

max {y, z} · ϕ(t) = M(x, y, t) · M(y, z, t).

/
� ����� ����
������ ��� ����
�0

7����� τM �� �
 ������
)
 �������
 ����� R+0

?
�
 t ≥ 1 ������� ��� Mt(x, t) = min{x,y}
max{x,y} 	 τMt �� �
 ������
)
 ���
�

�� R ���
���
 
 R+0

?
�
 t < 1 ������� ��� Mt(x, y) = min{x,y}
max{x,y} · t 	 ��� �� �
��� �� �����

������� ��� τMt �� �
 ������
)
 �������
0

57��� �	��� �� 
	������ ���	��� �� 
	.��� 	�� ������� {(Mt, ∗) : t > 0}
�� �����
�� �	��� ����
�������� ��-�� X �� ��� 	�� �����
� �	��� (M, ∗)
��-�� X ��� ����� �� �� ����	�� M(x, y, t) = Mt(x, y) ���� 
��� x, y ∈ X3

t ∈ R+� #� ���	����� �������
��� 
������� ���� 
	�������

������	�	
� "����� 1�
 {(Mt, ∗) : t ∈ R+} ��
 �
����
 �� �!����
� ����	

���
����
��
� ����� X0
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��� /
 ������� M ����� X2 × R+ ��4���
 ��� M(x, y, t) = Mt(x, y) ��

��
 �!����
 ����	 ����� X ��
��� ��������
��� �
 ������
 ∗ �� 	 ���� �� �


�
����
 {Mt : t ∈ R+} �� ��������� ��� ����� Mt ≤ Ms �� t < s� 	 �
 �������

Mxy : R+ →]0, 1] ��4���
 ��� Mxy(t) = Mt(x, y) �� ��
 ������� �������


����� R+ �
�
 �
�
 x, y ∈ X0

���� 1� �
 �
����
 {Mt : t > 0} �
����
�� �
� ��� ����������� �� ��� ��������

(M, ∗) �� ������ 	 {(Mt, ∗) : t ∈ R+} �� �
 �
����
 �� �!����
� ����	 ���
����

�
��
� 
����
�
� 
 M 0

2������
����0

;�< 1� M �� 	�� �����
� �	��� ��-�� X3 �� 
��
�	���� �� �-+���

?�
)���
������3 �	�������� :	� {Mt : t ∈ R+} +��� 
� �� 
����
��� ���

��	�
����� �����
�� ���� ���� x, y, z ∈ X3 t, s > 0 �� �����

M(x, z, t + s) = Mt+s(x, z) ≥ Mt+s(x, y) ∗ Mt+s(y, z) ≥

≥ Mt(x, y) ∗ Ms(y, z) = M(x, y, t) ∗ M(y, z, s)

#�� ���.� �(����� (GV 1) − (GV 3) � (GV 5) �� �������
�� �-+��������

;��< 0��� ���� x, y, z ∈ X3 t > 0 �� ����� :	�

M(x, z, t) = Mt(x, z) ≥ Mt(x, y) ∗ Mt(y, z) = M(x, y, t) ∗ M(y, z, t)

� ��� �� ����� M �� 	�� �����
� �	��� �	����� �

0�� ;��< ������� �-���+�� :	� 	�� �����
� �	��� �	���� �� 
���
������ ���

��� ���
���� � �� ������� {Mt : t ∈ R+} �� �����
�� �	��� ����
���������

�� ���	����� �2����� ��	���� �� �������
��� ���������



�'� ��
���	� ����� ����
��

������� "���#�

�
� ������������ ����� R �
 �
����
 ��������� �� �!����
� ����	 ���
����

�
��
� {(Mt, ·) : t ∈ R+} �
�
 ���

Mt(x, y) =
1

1 + |x − y| �� t ≤ 1

	

Mt(x, y) =
2

2 + |x − y| �� t > 1.

2�4����� �
 ������� M ����� R × R × R+ ��� M(x, y, t) = Mt(x, y)0

5������� Mxy ���4���
 �
�
 x, y ∈ X ��� Mxy(t) = M(x, y, t) �
�
 �
�


t > 0� �� ��
 ������� ��������� ����� R+ ���� (M, ·) �� �� ��
 �!����
 ����	

����� R 	
 ��� Mxy �� �� �������
 �
�
 t = 1 �� x �= y0

��� ������������ ����� R �
 �
����
 �� �!����
� ����	 ���
����
��
�

{(Mt, ·) : t ∈ R+} �
�
 ���

Mt(x, y) =
1

1 + |x − y| �� t ≤ 1

	

Mt(x, y) =
1
t

1
t + |x − y| �� t > 1.

2�4����� �
 ������� M ����� R × R × R+ ��� M(x, y, t) = Mt(x, y)0

5� ���� �
�� Mxy ��4���
 ���� 
���� �� ��
 ������� �������
 ����� R+

���� (M, ·) �� �� ��
 �!����
 ����	 ����� R 	
 ��� Mxy �� �� ��
 �������

��������� ����� R+0

,�� 
����
	��
�� �.
�� �� ��� �� ��
����� ���+��� �� �� ���	����� �������%


����
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������	�	
� "���!� 1�
 {Mt : t ∈ R+} �
 �
����
 �� �!����
� ����	 ���
����

�
��
� 
����
�
� 
 �
 �!����
 ����	 ������ M �� X0 5������� �
 ��������

{xn}n∈N
�� X �� *��
���	 �� 	 ���� �� {xn}n∈N

�� Mt −Cauchy �
�
 �
�


t > 00

>������ �� ���	����� 
���������

-����
�	� "����+� 1�
 (X,M, ∗) �� ���
��� �!����� ����	 ������0 (X,M, ∗)
�� �������� �� 	 ���� �� (X,Mt, ∗) �� �������� �
�
 �
�
 t ∈ R+0

2������
����0

�� �-+�� �� :	� τM =
∨ {τMt : t > 0}� �

������� "������ ������������ �
 �!����
 ����	 ��� 5������ -0,0%, �� ���

��� X =]0, 1] A = X ∩ Q B = X � A 	 �
 ������� M ����� X2 × R+ �
�


���

M(x, y, t) =




min{x,y}
max{x,y} , �� x, y ∈ A � x, y ∈ B, t > 0,
min{x,y}
max{x,y} , �� x ∈ A, y ∈ B � x ∈ B, y ∈ A, t ≥ 1
min{x,y}
max{x,y} · t, �� ���� �
��

#�
��� ��� (M, ·) �� ��
 �!����
 ����	 ������ ����� X0

1��� ������
����� ��� �
��� �� �����
��� 	 ����
����� �� ������� �� �����

�
��� �����
��� ��� ������)
 ��� �
���
������0

�%� 1����

��� ��� x, z ∈ A y ∈ B t < 10 5�������

M(x, z, t) =
min {x, z}
max {x, z} ≥ min {x, y}

max {x, y} · min {y, z}
max {y, z} ≥

≥ min {x, y}
max {x, y} · t · min {y, z}

max {y, z} · t = M(x, y, t) · M(y, z, t)



�'" ��
���	� ����� ����
��

�,� 1����

��� ��� x ∈ A y, z ∈ B t < 10 5�������

M(x, z, t) =
min {x, z}
max {x, z} · t ≥

≥ min {x, y}
max {x, y} · min {y, z}

max {y, z} · t = M(x, y, t) · M(y, z, t)

?
�
 t = 1
2 	 x < y ������� ���

M 1
2
(x, y) =




x
y , �� x, y ∈ A � x, y ∈ B

x
2y , �� x ∈ A, y ∈ B � x ∈ B, y ∈ A

1�
 {xn}n∈N
��
 �������� �������
����� ��������� �� ; ��� ������
� 


% �
�
 �
 ������
)
 ���
� �� R0 5������� {xn}n∈N
�� M 1

2
− Cauchy 	
 ���

ĺım
m,n→∞M 1

2
(xn, xm) = 10 1�� ���
�
� {xn}n∈N

�� ������
� �� (X,M 1
2
) 


���
<� x < 1 	
 ��� ĺım
n→∞M 1

2
(x, xn) ≤ ĺım

n→∞
x
xn

= x < 10 ?�� ���� �
�� ���


�������� �� ������
� �� (X,M 1
2
) 
 % 	
 ��� ĺım

n→∞M 1
2
(xn, 1) = ĺım

n→∞
xn
2 = 1

2 0

7�) M 1
2

�� �� �������� 	 ���� �����������
 M �� �� ��������0

7����� �� �� 5������ -0,0%, ����
��� ��� M �� �� ��������0

������ �����������	 
� �������
 ����� ������


(�)�	�	
� "������ 2������ ��� ��
 ������
 �������
 ∗ �� )���
�
 �� ����

��� ��� a ∗ b �= 0 ������� ��� a, b �= 0

#�� �%������ 
�����	�� �)���� � �������� ���
� ��� )�������� #� �%�����

L �� #	C����+�
� �� �� )�������
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�� �� �2����� � �� 8��93 �� ��� ��� �	
������� �� *�	
7� {xn}n � {yn}n ��

	� ����
�� �����
� �	��� ����
������� (X,M) ����� :	� ĺım
n→∞M(xn, yn) = 0�

���� �� �� ����-�� 
	���� ∗ �� )������ 
��� �	����� �� ���	����� �����

.��
 "������ 1�
 (X,M, ∗) �� ���
��� �!����� ����	 	 �����

��� ��� ∗
�� )���
�
0 1�
� {an}n 	 {bn}n ��� ���������� �� �
���	 �� X 	 t > 00 1�

{M(an, bn, t)}n∈N
������
� ��� �
 ������
)
 ���
� �� R� 
 � �������� c > 00

2������
����0

1��� {an}n � {bn}n �	
������� �� *�	
7� �� X � �	�������� :	�

ĺım
n→∞M(an, bn, t) = c.

E��� ε ∈]0, 1[ ������� ��
������ p ∈ N ��� :	� M(ar, as,
t
3) > 1 − ε �

M(br, bs,
t
3 ) > 1 − ε ���� ���� r, s ≥ p�

0������� M(ap, bp,
t
3) = a > 0 � δ = (1 − ε) ∗ a ∗ (1 − ε) > 0 �� :	� ∗

�� )������� �����
�� ���� n ≥ p �������

M(an, bn, t) ≥ M(an, ap,
t

3
) ∗ M(ap, bp,

t

3
) ∗ M(bp, bn,

t

3
) ≥

≥ (1 − ε) ∗ a ∗ (1 − ε) = δ

� ��)

ĺım
n→∞M(an, bn, t) = c ≥ δ > 0.

�

,�����
 "����"� 1�
 (X,M, ∗) �� ���
��� �!����� ����	 ������ 	 �����

�

��� ��� ∗ �� )���
�
0 1� {xn}n∈N
� {yn}n∈N

��� ���������� �� �
���	 �� X

	 t > 0 �������� {M(xn, yn, t)}n∈N
������
� �� ]0, 1]0

2������
����0



�'! ��
���	� ����� ����
��

1��� {xn}n∈N
� {yn}n∈N

�	
������� �� *�	
7� �� X � ��� t > 0� *���

M(xn, yn, t) ∈ [0, 1] ���� ���� n ∈ N3 ������� ��
������ 	�� �	-�	
�����

{M(xni , yni , t)}i �� {M(xn, yn, t)}n :	� 
��+���� � c ∈ [0, 1]� *��� {xni}i

� {yni}i ��� �	-�	
������� �� {xn}n∈N
� {yn}n∈N

3 �����
��+������3 ���-���

��� �	
������� �� *�	
7�3 � ��� �� ���� ��������3 ������� :	� c > 0�

1�� ε ∈]0, 1[ ��� :	� c−ε > 0 � t > 0� 5 ������ :	� �(���� p ∈ N ��� :	�

M(xm, ym, t) > c− ε ���� ���� m ≥ p� 0��� ������� ����3 �������� δ ∈]0, 1[

��� :	� δ ∗ δ ∗ (c − ε
2) > c − ε� *��� {xn}n∈N

� {yn}n∈N
��� �	
������� ��

*�	
7�3 �(���� l ∈ N ��� :	� M(xm, xni , t) > δ � M(yni , ym, t) > δ ���� ����

m, i ≥ l � ���-��� �(���� q ∈ N ��� :	� M(xni , yni , t) > c− ε
2 ���� ���� i ≥ q

�� :	� {M(xni , yni , t)}i3 
��+���� � c�

>������ p = max {l, q}� *��� M �� �	����3 ������� :	�

M(xm, ym, t) ≥ M(xm, xnp , t) ∗ M(xnp , ynp , t) ∗ M(ynp , ym, t) ≥

≥ δ ∗ (c − ε

2
) ∗ δ > c − ε

���� ���� m ≥ p3 � ��) �	����� � ���
��� 7� ���� ���-����

57��� +�����3 ��� ���	

��� �� �-�	���3 :	� ĺım
n→∞M(xn, yn, t) = c�

1� c = 13 �� �-+���

1	�������� :	� c < 1�

1� {M(xn, yn, t)}n �� 
��+���� � c3 �(�����. δ > 0 
�� ]c−δ, c+δ[⊂]0, 1[ ��

������ :	� 	�� 
������� �� ���� �� �������� �� �� �	
����� {M(xn, yn, t)}n

�����.� �� �� 
����
�� [0, c− δ]∪ [c+ δ, 1]3 � ��� �� ����� �(�����. 	�� �	-�	%


�����
{
M(xn′

j
, yn′

j
, t)
}

j
�� {M(xn, yn, t)}n ��� :	� ĺım

j→∞
M(xn′

j
, yn′

j
, t) = e3
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�� e �= c � e > 0 ��� �� #��� "�����3 �� :	�
{

xn′
j

}
�
{

yn′
j

}
��� �	
�������

�� *�	
7� �� X� 1	�������� :	� c < e�

1�� ε′ < e−c
3 �� ������ :	� 0 < c− ε′ < c+ ε′ < e− ε′� 0�� �� � ���
���

��������3 ����
��� � e, ε′ > 0 � t > 03 �(���� p1 ∈ N ��� :	�

M(xm, ym, t) > e − ε′, ���� ���� m ≥ p1 ;"��<

0�� ���� �����3 
��� {M(xni , yni , t)}i 
��+���� � c3 �(���� p2 ∈ N ��� :	�

M(xni , yni , t) ∈]c − ε′, c + ε′[3 ���� ���� i ≥ p23 �� :	� 
�������
� � ;"��<�

1� �	������� :	� e < c3 ������� 
��������� ε′ ∈]0, 1[ 
�� 0 < ε′ < c−ε
3

� ��� :	� 0 < e − ε′ < e + ε′ < c − ε�

57���3 
���
{

M(xn′
j
, yn′

j
, t)
}

j

��+���� � e3 �(���� p3 ∈ N ��� :	�

M(xn′
j
, yn′

j
, t) ∈]e− ε′, e+ ε′[ ���� ���� n′

j ≥ p33 �� 
	�� �� 	�� 
�������

���


�� :	� M(xm, ym, t) > c − ε ���� ���� m ≥ p�

0�� 
�����	�����3 {M(xn, yn, t)}n 
��+���� � c� �

?�
����� :	� ;0������
��� � �� 8��9< 	� ����
�� �����
� �	��� ����
�������

(X,M, ∗) �� 
�������-�� �� � ���� �� ĺım
n→∞M(an, bn) > 0 ���� 
��� ��� ��

�	
������� �� *�	
7� {an}n3 {bn}n3 �� X� 5�)3 ��� �� >������ "����"3 �������

��� ���	������ 
����������

-����
�	� "������ 1� (M, ∗) �� ��
 �!����
 ����	 ���
����
��
 ����� X 	 ∗
�� )���
�
 �������� (X,M, ∗) �� �������
���0

?�
������� :	� �� �����
� �	��� M �� ��
� :	� �� 	�� ����
�!����


�� M(x, z, t) ≥ min {M(x, y, t),M(y, z, t)}3 ���� 
	����:	���� x, y, z ∈ X3
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���	� ����� ����
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t > 0� 0�� �����3 �� (M, ∗) �� 	�� 	���������
� ��-�� X3 �����
�� ∗ �� ��
���%
�������� �� �%����� �)����3 :	� �� )������3 
�� �� :	� 
��� 
��� �����
	���

��� *�������� "����
3 ������� �� ���	����� 
���������

-����
�	� "���� � /
� ����
�!����
� ����	 ���
����
��
� ��� �������
����0

�� �2����� � �� 8��9 �� 	� �2����� �� 	� ����
�� �����
� �	��� ����
��%

����� :	� �� ������ 
�������
��� �	����

.��
 "������ 1����

��� ��� (X,M, ∗) �� �������
���0 1�
 (X∗,M∗, ∗)
�
 �������
���� ����	 �� (X,M, ∗)0 1� (M, ∗) �� ������ �������� (M∗, ∗) ��

������0

2������
����0

1��� x, y, z,∈ X∗� 1��� {xn}n∈N
3 {yn}n∈N

� {zn}n∈N
�	
������� �� X

:	� 
��+����� � x3 y3 z3 �����
��+������� �����
��3 ��� 
�����	

��� �� M∗

8��9 ������� :	�

M∗(x, z, t) = ĺım
n→∞M(xn, zn, t) ≥ ĺım

n→∞ {M(xn, yn, t) ∗ M(yn, zn, t)} =

= M∗(x, y, t) ∗ M∗(y, z, t)

�� :	� M �� 
�����	� ��-�� X2 × R+ 8"&9 � ∗ �� 
�����	� ��-�� [0, 1]23 � ��)

M∗ �� �	����� �

,�����
 "����#� 1�
 (X,M, ∗) �� ���
��� �!����� ����	 ������0 1� X ��

�������
��� �������� (X,Mt, ∗) �� �������
��� �
�
 ���� t > 00

2������
����0

1�� (X∗,M∗, ∗) �� 
�������
��� �����
� �	��� �� (X,M, ∗)� 0�� �� ����
��������3 M∗ �� �	���� ��-�� X∗ � ��) ��� �� *�������� "����' M∗

t �� 	��

�����
� �	��� ����
������� 
������� ��-�� X∗ ���� 
��� t > 0�



!�	 �
	�� �� ���	���� ��
����� ����� ����
�
	"
�� �'$

������ :	� (X∗,M∗
t , ∗) �� �� 
�������
��� �����
� �	��� �� (X,Mt, ∗)

���� ���� t > 0�

0������ +����� :	� X �� ����� �� X∗ ������ 
�� �� �������)� τM∗
t
3 ����

���� t > 0�

1�� x ∈ X∗ � 
����������� 	�� �	
����� {xn}n∈N
�� X ��� :	� {xn}n∈N


��+���� � x �� τM∗ � �����
��3 ��� ;��< �� �� 0������
��� "���
 {xn}n∈N


��+���� � x �� τM∗
t
���� ���� t > 0 � ��) X �� ����� �� (X∗, τM∗

t
)�

*���������3 �� �	�
��� ��������� �� (X,Mt) �� (X,M∗
t ) �� 	�� �������)�3

�� :	�3 ���� 
��� t > 03

Mt(x, y) = M(x, y, t) = M∗(x, y, t) = M∗
t (x, y) ���� ���� x, y ∈ X.

5�) (X∗,M∗
t , ∗) �� �� 
�������
��� �����
� �	��� �� (X,Mt, ∗)� �

�� ���	����� �2����� ��� �	����� :	� �� ������� �(������ �� *��������

"����! � 	���������
�� �	��� � ���-��� :	� �� ��
)���
� ��� ������� ��������

�� ������

������� "����!� 1�
� {xn}n∈N
� {yn}n∈N

��� ���������� �������
����� ����

������� �� �<����� ��
��� ��������� ��� ������
�� 
 % ��� �������� 
 �
 �!�

����
 ����)��
 ��� A ∩ B = φ ����� A = {xn : n ∈ N} 	 B = {yn : n ∈ N}0
1�
 X = A ∪ B 	 ��4����� ����� X × X×]0,+∞[ �� �������� ����	 M

��4���� ���

M(xn, xn, t) = M(yn, yn, t) = 1 �
�
 ���� n ∈ N, t > 0 

M(xn, xm, t) = xn ∧ xm �
�
 ���� n,m ∈ N ��� n �= m t > 0 

M(yn, ym, t) = yn ∧ ym �
�
 ���� n,m ∈ N ��� n �= m t > 0 
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M(xn, ym, t) = M(ym, xn, t) = xn ∧ ym �
�
 ���� n,m ∈ N t ≥ 1 

M(xn, ym, t) = M(ym, xn, t) = xn∧ym∧ t �
�
 ���� n,m ∈ N 0 < t < 10

(X,M,∧) �� �� ���
��� �!����� ����	 ��� �� �� �������
��� �5������ ,

�� $,-'�0

#�
��� ��� M �� ������ 	 ���� ���������� �� ������ ��� (X,M,∧) ��

�� ���
��� ����
�!����� ����	0

7�����
����� �
 �������
���� ����
��� ��� �
��� �����
���0

1����

��� ��� 0 < t < 10 9������

M(xn, xm, t) = xn ∧ xm ≥ xn ∧ xr ∧ xm = M(xn, xr, t) ∗ M(xr, xm, t)

	 �� �
 ����
 ����


M(yn, ym, t) ≥ M(yn, yr, t) ∗ M(yr, ym, t), �
�
 n �= m.

M(xn, xm, t) = xn ∧ xm ≥ xn ∧ yr ∧ xm ∧ t = M(xn, yr, t) ∗ M(yr, xm, t)

	 �� �
 ����
 ����


M(yn, ym, t) ≥ M(yn, xr, t) ∗ M(xr, ym, t), �
�
 n �= m.

M(xn, ym, t) = xn ∧ ym ∧ t ≥ xn ∧ xr ∧ ym ∧ t =

= M(xn, xr, t) ∗ M(xr, ym, t), �
�
 n �= m.

1� r = n �
 ����
�
��
� �� ����
0 2� �
 ����
 ����


M(xn, ym, t) ≥ M(xn, yr, t) ∗ M(yr, ym, t), �
�
 n �= m.

1� r = m �
 ����
�
��
� �� ����
0
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5� �
�� t ≥ 1 �� �����
�0

���� (X,M,∧) �� ������ �������� (X,Mt,∧) ��� �!����
� ����	 ���
����

�
��
� 	 
�) �������
���� �
�
 �
�
 t > 0 	
 ��� ∗ �� ��
 ������
 �������


)���
�
0

,�����
 "����+� 1�
 (X,M, ∗) �� ���
��� �!����� ����	 ������ 	 �����

�

��� ��� ∗ �� )���
�
0 5������� τM =
∨ {τMt : t > 0} ����� �
�
 ��� �� ���

���
���� (X,Mt, ∗) �� �������
���0

2������
����0

*����������� ���� ���� t > 0 �� �����
� �	��� ����
������� Mt ��-�� X

���
���� � M �

E�������� ��� BMt(x, r) � �� -��� 
������� �� x ∈ X � �� ����� r ∈]0, 1[

�� (X,Mt, ∗)� �� �.
�� ���-�� :	� ���� t < s3 BMt(x, r) ⊂ BMs(x, r)3 � ���

�� ����� τMt � τMs �

0�� �� *�������� "����
 (Mt, ∗) �� 
�������-�� ���� 
��� t > 03 �  %

��������3 
��� BM (x, r, t) = BMt(x, r)3 �� ���	
� �������������� :	�

τM =
∨ {τMt : t > 0}� �
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��� ��.
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�� :	� ������� �-%

����� �� ��� �����
�� �	���3 ����� 	�� ����
�
��� ����  ������ �� ������

�� 
����� ������� :	� ��� ������� ��  ������ �� ������ 
�����	���� 	�����

�����
�� �	��� �	�
����� ��2�� :	� ����� ������� 
�.��
���

�� �� 1�

��� 
�� +���� 	�� ������	

��� � ��� ��.����� ��������� 
�� ��

 � �� ��� � 
���
�� ��� ��������� :	� ��� ������3 :	� ��� ���.� �� 	�������

���� ��� ������� ��  ������ ����	������ ����� ��������� :	� ������ �� ���%

��� ��
�-�� �� ���-�� �� �)(���� � 
��� 	�� �� ����� ���. ���
���� 
�� 	���


��������� �� 
������ ��������� ��2�3 +���� � ��	�3 �������� 
���������� ��


���� ?�M �E�� "���� ;���� �� 	� �)(��� ����� 
���������� ����
�� ��

���
�� �� 
������ ��������� :	� �� ��-� �������� ���� �-����� �� 
���� �� ���

�)(��� *	���� �� ����� 	�� ������ �������3 �	��� +���� ���
���� ��� ��+�����

���
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��	���� �� ��
���	� �����

��
����� :	� �	���� �������� �� 
������ �� ����3 �� :	� 	�	������� �	����

�����
�� �����	���������3 ���-��� �������� �	����

�� �� 1�

��� 
�� +���� 
��� ���������� ��  ������ 	��������� �����
��

�	���� 1� ����� �� �	����	�� 	� �)(�� 
�� �	���3 ��� ���� ��-�� �� �	��� :	�

����������� ��� Fi � F̂i3 �����
��+������� 0��� ���������� F̂i 	���������

�� ����
���� �� ����� ���	
���3 :	� ���������3 �� 	� ������� 
	������ ��

����L� n3 �� +�
��� �� 
���� :	� �� �.� ������� �� ���-�� � ����� ��� ���.�

+�
����� ��� �������� �� ��
��3 F̂i �� �� +�
��� �� 
���� ��� ������� :	� ��(�%

���� �� ������
�� �	��� �
	�	���� � ����� ��� +�
����� �� 
���� ��� ��������

*��� ������� ����
�
��� � ���� ������ ��  ������3 	����� ��� �����
��

�	���

G(x, y, kG) = kG
kG+|x−y|

E(x, y, kE) = e
− |x−y|

kE

M(x, y, kM ) =
mı́n{x, y} + kM

máx{x, y} + kM

T (x, y, kT ) = 1 − |x − y|
kT

:	� ��� 
���� �����
	����� �� ��� �����
�� �	��� ;��"<3 ;��!<3 ;���< � ;���<

���	������ �� �� 
��)�	�� �3 � 
��������� �� ���	����� ���  ������ 
�� ��

�-������ �� 	������� ��� �����
�� 
�.��
�� L2 � L∞�

�� �� ���	��� ����
�
��� ������������� 	� ������ ��  ������ 	���������
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��-���
��� �� ��� �����
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��� �� ��� �-2���� 3D ��-�� 	�� ������ ������ �� 
.����� ��%

�������3 ���� �����
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����� �� �����
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� �� ����
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���������� 
�� �	���

;-<� #� ������
�� �� �����	���������3 � �	���3 �� 	�� ������ ���3 �� �������3

�������-���3 ����� �� �	��� �� +���� �� �� 
������ +��	�� �� �� ������ 
���

���� �� ���
��������� �	���.��
� �� ����3 �� :	� �� ������
�� �� �	��� �	���

��� 	� ���+� ����������� ���� �� 
����
�� �	�
���������� �� ��� ������ ��

���
��������� �	���.��
� �� �� �������

"��� .������� �� ������ 	��������� �����
�� �	���

E�������� ��� F � �� ������ ������� :	� +���� � ������� 0��
������

�� ������ ��������� 	� ����:	� �� +������ ����������H ���� ���
���� 
���

�)(�� �� �� ������3 ������� ��� �)(���� ������ �� 	� ������� 
	������ W

�� ����L� n × n, n = 3, 5, 7, . . .3 
������� �� ���

E�������� ��� Fi, i = 0, . . . , n2 − 13 ��� n2 +�
����� �� 
���� ���
�����

� ��� �)(���� �� W � K����� :	� 	� �)(�� �� 	�� ������ �� 
���� �� 
���
��%

����3 
��� 7���� +���� �� �� ��

��� ��������3 ��� 	�� ����� :	� �� �� �	�


���������� �� 
���� ?�M3 :	� ��3 Fi = {FR
i , FG

i , FB
i }�

�� ���� 
����(��3 ������� ����� �� ������
�� �	��� ����� ��� +�
�����

�� 
���� �������� �� 
��2	�
��� 
�� 	�� ���
	��� �%����� �� ��� ������
���

�	��� ����� �	� 
���������� �� 
����� 5 
�����	�
��� ���������� �� ���
���

��  ������ � ��������� 
��� ��� �����
�� �	��� �	���� �	����	�� � ��� ��%

���
�� 
�.��
�� �� ���� ���
���3 � 
	.��� ��� ��� -��� 
��� ���	������� �� ����

�	����	
����



��& #�
��	���� �� ��
���	� �����

�� ���-���� ��  ������ �� 	�� ������ ������� �����
� �������� ��� �)(����

�	������ � ������������� ��� ����� ��-��� �� �	���� E����� �� 	� ����:	� ��

+������ ����������3 ���� �� �	��� 7�
�� �������� �� ������ 
�
��� �� W �� 	�

�)(�� ��-�� �� �	��� F̂i ���� �	����	�� �� �������� Fi� �� 	� 
����(�� +�
������3

���� ������ 
�
��� �	��� 7�
���� �������� �� ������ ��� ����
���� �� �����

���	
���3 :	� ��������� 
	.� �� ��� +�
����� �� 
���� �� �� ��-��
��� �� �� ���

�����
�3 �� �������3 � ����� ��� ���.�� �� �����
	���3 F̂i �� �	��� ����������


��� �� +�
��� �� 
���� �� �� ��-��
��� :	� ��(����� �� ������
�� �	���

�
	�	���� � ����� ��� ����� +�
����� �� 
���� �� W 3 �� �� ���	����� �������

>������ C 
��� �� �����
� �	��� ���� ��(������3 ���� 
��� +�
��� Fk

�� �� +������ W 3 
��
	����� 	�� ������ �
	�	����

Ak =
∑

j∈W,j �=k

C(Fk,Fj , t)

� ����� ��� ����� +�
����� �� �� +������� #�� +������ Ak �� ������� �� 	��

�	
����� ��
��
����� ;�� �� :	� �� +���� ���	��� �� �� ����
��� ��!���
 ��

��
��-� 
��� A(r)< �� �� ���	����� �����H

A(0) ≥ A(1) ≥ · · · ≥ A(n2−1).

���� ����� �����
� �� ����� ����� �� ��� +�
����� FkP�H

F(0) ≥ F(1) ≥ · · · ≥ F(n2−1).

�����
�� �� ������ ���  ���� F̂i ���. �� +�
��� F(0) :	� �
	�� �� ����
���

����� �� �� �	
����� ���������

�� 	� 
����(�� ��.����3 �� 
���
��� #����� *���
� 6����� ;��/< ��%

���� �� �����
� �	
�)��� ;L2< 
��� �� 
������� �� ������
�� ����� ��� +�
������

5���.�3 ���� �����
� ���	��� �� �����
� L∞ ����� �� ������
�� ����� ���

+�
����� �� �� �.(��� ��� +���� �-���	�� �� ��� �������
��� ����� �	� 
����%

�������
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*��� 	�� ������� ����
�
��� �� �����
�� �	��� ����  ������ �� ������

�� 
����3 	����� ��� ���	������ �����
�� �	���3 :	� ��� 
���� �����
	����� ��

��� �����
�� �	��� ;��"<3 ;��!<3 ;���< � ;���< ���	������ �� �� 
��)�	�� �3 
��

�� �������� ������ ��  ������ �(���
����

G(x, y, kG) = kG
kG+|x−y|

E(x, y, kE) = e
− |x−y|

kE

M(x, y, kM ) =
mı́n{x, y} + kM

máx{x, y} + kM

T (x, y, kT ) = 1 − |x − y|
kT

0��� G3 E � M 3 ������� �� ����	
�� 	�	�� 
��� �%����� �� �� �����
���

-������3 ���� ���� T ������� �� �%����� L �� #	C����@�
� ���:	� T �� ��

	�� �����
� �	��� 
�� �� ����	
�� 	�	��� 0�������������3 
��������� ��

����������� �� ����� �����
�� �	��� 
�� �� ������
�� �	
����� 
�.��
� ;L2< �


�� �� �����
� L∞�

�� ���
��� �(���������� 
��4� ���� �+��	�� ���������� ������� ��  �%

����� �� ����� 	�� ������ �������� ��-�� �� �	��� ;/��	�� 
�� ;�<<3 ���	���

�	 
��������
��� �������� 	� ������ �� �	��� ���	���+� ;/��	�� 
�� ;-<< �

 ����� �� ������ ;/��	�� 
�� ;
<< ���� ��
	����� �� ��������� #�� ������� ��


������ �-2���+�� �� 	������� ���� ���������� �� ����� �� 
������ �� �� ������

�-������� K������� 	����� �� ?��� E��
���� 1�F
� E���� ;01K?< �� ���� ��

�� ���	����� �����



��' #�
��	���� �� ��
���	� �����

��� ��� ���

/��	�� 
��H 0��
��� ��� �(���������H ;�< ������ ��� �	���3 ;-< ������ 
��

�	���3 ;
< ������  �������

PSNR = 20 log




255√
1

NMQ

∑
i∈F

Q∑
q=1

(
Fq

i − F̂q
i

)2


 , ;
��<

����� M � N ��� ��� ����������� �� �� ������ F3 Q �� �� �4���� �� 
������

�� �� ������ ;Q = 3 ���� ��.����� �� 
����<3 � Fq
i � F̂q

i ������� �� 
����%

����� ��!���
 �� ��� +�
����� �� �� ������ �������� � �� �� ������  ������3

�� �� ����
��� i3 �����
��+�������

,����� 
	���� ��.����� �� ��	�-� ����������3 :	� 
����������� 
��

���
����2�� �� �	��� �� 0% � 50%3 
�� 	� ��
������� ��� 5%� >���� ���

��.����� �	������ ��  ����� 
�� �� ������ ���
���� ������������� 	���������

��� ��� �����
�� 
�.��
�� � ��� 
	���� �����
�� �	��� 
������������ #	���3


��
	����� �� +���� 01K? ����� ���� ��� 
	���� ��.����� �� 
��� 
����

�� ��� ���	������ �(������������ ;*	���� 
�� � *	���� 
��< ������� +��

:	� ����� ��� �����
�� �	��� ���	������ �	����� � ��� ��� �����
�� 
�.��
��3
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��� ���

��� ���

/��	�� 
��H ��.����� �� ��	�-�

����
�������� ���� ���� �������� �� �	���� >��-���3 �� �-���+� :	� ����� ���

�����
�� �	��� �	�
����� �� ������ �������� E� ���� ����3 ������� 
��
�	��

:	� �� ��2��� �-������ �� �� ��-� � �� ����� �� �� �	�
��� 	��������3 ����

� �� 
��2	�
��� 7�
7� 
�� �%������ ���� ����� �� ������
�� �	��� ����� ���

+�
����� �� 
����� �� �� 
��2	�
���3 �� +���� �	��� �.� -�2� �� �� :	� ����

�.� �� �� 
.�
	�� �� �� ������
�� �	���  ��� ���� ��� �� �����
�3 ���� ���

������
��� �� ����� �� ��� +������� *��� �� �	��� ���. ���
����3 �� �����3 ��

+���� �	��� �.� -�2�3 �� ����
�� ��2�� � �� ���
��� ��  ������ �� �.� � 
���



��� #�
��	���� �� ��
���	� �����

*	���� 
��H *������
��� �� ����������� �� �������� �� 01K? +������� ��

���
����2� �� �	��� ;-�2�<

������ 0 % 5 % 10 % 15 % 20 % 25 %

L2 27.86 27.40 27.12 26.78 26.34 26.09

L∞ 27.82 27.23 26.54 26.18 25.46 25.14

G 27.80 27.64 27.45 27.32 26.83 26.75

E 27.80 27.64 27.41 27.30 26.84 26.73

M 27.81 27.64 27.45 27.32 26.83 26.73

T 27.80 27.65 27.45 27.28 26.85 26.70

*	���� 
��H *������
��� �� ����������� �� �������� �� 01K? +������� ��

���
����2� �� �	��� ;����<

������ 30 % 35 % 40 % 45 % 50 %

L2 25.46 25.25 24.64 23.96 23.29

L∞ 24.27 23.96 23.22 22.29 21.57

G 26.23 25.94 25.51 24.68 24.06

E 26.20 25.92 25.55 24.72 24.02

M 26.20 25.93 25.56 24.72 24.05

T 26.18 25.87 25.55 24.68 24.07

"�"� 0��	��� ����
�
���

57���3 
����������� :	� 	� �)(�� �� 	�� ������ �� 
���� �� 
���
������

��� �	 ����
��� �� �� ������ q = {q1, q2}3 ���� ��� ��� 
���������� ��

����
���3 � ��� 	�� ����� :	� �� �� �	 
��������� �� 
���� ?�M3 :	� ��3

Fq = {FR
q , FG

q , FB
q }� �� ���� 
����(��3 ������� ����� �� ������
�� ����� ���

+�
����� �� 
���� ���������� � �� �������	� �� �	� 
���������� �� 
����3 �

���-��� ���������� � �� ���(������ ����
��� ����� ��� �)(����� 0���������

	������� 	�� �����
� �	��� :	� ���������� ���	����������� ��-�� 
��������

�� ������
��� 0��� ����3 ��� 	� ����3 	����� �� �����
� �	��� R ���� ���



&�����	 	�
��	���� ���

R(Fi,Fj) =
3∏

l=1

min{F l
i , F

l
j } + K

max{F l
i , F

l
j } + K

, ;
��<

���� ����� �� �������	� ����� ��� +�
����� �� 
���� Fi � Fj� �� ���� �(�������3

����-��
���� K = 1024 �� :	� �� ��+������
����� ���������� �� 7� ����������

:	� �� 	� +���� ���
	��� ���� ���
���� ��.����� �� 
���� ?�M 8�$9�

0�� ���� ����3 �� ���(������ ����
��� ����� ��� �)(���� �� �� ������ Fi �

Fj ���. ���� ��� �� �����
� �	��� S �� ���� ���

S(Fi,Fj, t) =
t

t + ||i − j|| , ;
��<

����� || · || ������ �� ����� �	
�)��� � t �� 	� ���.����� 
���� �� �2	�%

��� �� �����-������ �� �� �����
� �	���� 57���3 
�����	���� �� ����	
�� ��

��� ���������� �����
�� �	��� R � S �� 	�� 4��
� �����
� �	��� C ���� ���

C(Fi,Fj, t) = R(Fi,Fj) · S(Fi,Fj, t)� 1� �	��� ���-�� :	� �� ����	
�� ��

�����
�� �	��� �� ���-��� 	�� �����
� �	��� 8"$9� E� ���� ����3 �� �����
�

�	��� C ���� �� ����
��� ����� ��� �)(���� �� �� ������ �������� �� 
	����

���	��.�������� �� �������	� ����� ��� 
���������� �� 
���� � �� 
��
��)�

����
��� �� ��� �)(����� 5�)3 ��� ���������� 	������� ���� �����
� �	��� 
��%

-�����3 �� �� ������ ��  ������ �(���
��� �� �� ��

��� ���������

*��� 7���� ���
������ �������������3 �� 
�.��
� #����� *���
� 6�����

;��/< 8�9 ������ �� �����
� �	
�)��� 
��� 
������� �� ������
�� ����� +�
��%

���� ����  ���� �� 
���
��� ��� �	 
������������� ��-	��� ���� ��� ��.�����

���	������� ��� � ���	�� ��������� �	�+������3 � ��� 
�����	�����3 ��� -��%

��� � ��� �������� ��:	�L�� �� ���.� -��� 
�����+����� 0�� ���� ����3 �� ��

����:	� :	� ����������3 ������� +�� :	� �� ��
�	���� ��� 
������� ����
���
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:	� �� �	��� ���-��� �� ���	
�� ���� �� ����� ���:	� 
��� +�
��� �� ������ ��


��� +������ ��  ������ �� ��������� 	� +�
��� :	� �� ����
�������� 
��
���

� ����� ��� ����� +�
����� �� �� +������� 0�� �� �����3 �+������ �� ����-������

�� �	����	�� 	� �)(�� ��� ���� ���	��� ��2�� �� ��3 �� 
	�� �� �� ���������

���� 
�����+�� ��� -����� � ��� ��������� #�� /��	��� 
�" % 
�! �	������ ����

��.����� �	������  ������� 
�� �� ��/ � �� ������ ����	����� 0������ +��

:	� ��-�� ������� ��� 
���
�� �� �	������ �� �	���3 ����3 �������� :	� ��

��/ ������ ��.����� �� ������ ��������� -�������3 �� ������ ����	���� ��


���� �� 
�����+�� ��2�� ��� -����� �� �� ������ � ��� ��������3 � ��)3 ��2����

�� 
������ +��	�� �� ��� ��.����� �-��������

/���������3 ������� 
��
�	�� :	� ��� �����
�� �	��� ��� ���
	���� ����

��  ������ �� ��.����� �� 
���� � ����
� �� ���� ��+������� �	 	������� ��

����� ������ �� ���
��������� �� ��.����� � �� ���-����� �� ��������)��
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��� �� �	�
����������H ;�< E������ �� �� ������ #���� ����� ��

10% �� ��� �)(���� ��� �	������3 ;-< ?��	����� �-������ 	����� �� ��/ 8�9


�� 	�  ���� +������ �� ����L� 5 × 53 ;
< ?��	����� �-������ 
�� ��
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10% �� ��� �)(���� ��� �	������3 ;-< ?��	����� �-������ 	����� �� ��/ 8�9


�� 	�  ���� +������ �� ����L� 5 × 53 ;
< ?��	����� �-������ 
�� ��
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10% �� ��� �)(���� ��� �	������3 ;-< ?��	����� �-������ 	����� �� ��/ 8�9
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